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1. &��� �%�����/ ��%&�����/  
&5?O<< >E6>5=<O 4<EF<??<=O «�=>EFD4==O= O7O>» O6?ONFEO: ?>6OL5=<5 <EE>4=>7> GD>6=O 

6?445=<O 4=7?<=E><< O7O>><, 4>EF<7=GF>7> =4 ?D54O4GM5= EFG?5=< >5D47>64=<O, < >6?445=<5 
EFG45=F4<< =5>5E>4<<O< < 4>EF4F>G=O< GD>6=5< <=>O7OG=>= >><<G=<>4F<6=>= >><?5F5=F<< 4?O 
D5L5=<O E>F<4?L=>->><<G=<>4F<6=OE 7444G 6 D47?<G=OE >5?4EFOE ?D>D5EE<>=4?L=>=, =4GG=>=, 
>G?LFGD=>= < 5OF>6>= ED5D 45OF5?L=>EF< (G<5=<= ?<EL<5==>7> < GEF=>7> >5M5=<O =4 4=7?<=E>>< 
O7O>5), 4 F4>65 4?O 44?L=5=L57> E4<>>5D47>64=<O. 
  

 2. ��%&� ��%&�����/ � %&$'�&'$� ���  
�<EF<??<=4 «�=>EFD4==O= O7O>» >F=>E<FEO > >5O74F5?L=>= G4EF< 5?>>4 1 «�<EF<??<=O 

(<>4G?<)» ����. 
 

�D54L5EF6GNM<5 4<EF<??<=O (>GDEO, 
<>4G?<, ?D4>F<><) 

�>E?54GNM<5 4<EF<??<=O (>GDEO, <>4G?<, 
?D4>F<><) 

-                     
�E6>5=<5 4<EF<??<=O «�=>EFD4==O= O7O>» ?>6OL45F GD>65=L ?5D6>=4G4?L=OE 7=4=<=, 

G<5=<= < =46O>>6 G EFG45=F>6 6 >5?4EF< <=>EFD4==>7> O7O>4.   
 
 

3.�����$'��/� $��'�,&�&/ ��''���/ �� ��%&������  
 

�>4 < =4<<5=>64=<5 
>><?5F5=F<< 

�>4 < =4<<5=>64=<5 
<=4<>4F>D4 (<=4<>4F>D>6) 
4>EF<65=<O >><?5F5=F<< 

$57G?LF4FO >5GG5=<O 

'�-4 %?>E>55= 
>EGM5EF6?OFL 45?>6GN 
>><<G=<>4F<N 6 GEF=>= < 
?<EL<5==>= D>D<4E =4 
7>EG44DEF65==>< O7O>5 
$>EE<=E>>= $545D4F<< < 
<=>EFD4==>< (OE) O7O>5 (4E) 

'�-4.2 �54UF >5<5= 45?>6>= 
<=D>D<4F<5= 6 GEF=>= < 
?<EL<5==>= D>D<4E =5 
<5=55 G5< =4 >4=>< 
<=>EFD4==>< O7O>5 

�=45F =>D<O < ?D46<?4 
<=>EFD4==>7> O7O>4 

'<55F >><<G=<F<D>64FL 6 
GEF=>= < ?<EL<5==>= 
D>D<4E =4 <=>EFD4==>< 
O7O>5  

�?4455F =46O>4<< >5<5=4 
45?>6>= <=D>D<4F<5= 6 
GEF=>= < ?<EL<5==>= 
D>D<4E =4 <=>EFD4==>< 
O7O>5 

 
 

 
            4. ��.�� ��%&�����/ � ���/ ''����� $���&/ 

 
�5M<= >5N5< 4<EF<??<=O E>EF46?O5F 6 74G5F=O5 54<=<FO, 216 4>445<<G5E><E G4E>6.   
 

�G=4O D>D<4 >5GG5=<O 
�<4 GG55=>= D45>FO �E57> 

G4E>6 
&D<<5EFDO 

 1 2 
�>=F4>F=4O D45>F4 (6E57>) 60 30 30 
6 F>< G<E?5:    
74=OF<O E5<<=4DE>>7> F<?4 (��) 60 30 30 
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<7 =<E    
3 ?D4>F<G5E><5 74=OF<O (�$) 60 30 30 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 156 78 78 
6 F>< G<E?5:    
%4<>?>47>F>6>4   

156 
78 78 

�>47>F>6>4 > 4FF5EF4F<<    
�5M<= >5N5<, G4E 216 108 108 
$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  74GUF 4<D.74GUF 

 
 
�4>G=4O D>D<4 >5GG5=<O 

�<4 GG55=>= D45>FO �E57> 
G4E>6 

&D<<5EFDO 

 1 2 
�>=F4>F=4O D45>F4 (6E57>) 12 6 6 
6 F>< G<E?5:    
1) 74=OF<O E5<<=4DE>>7> F<?4 (��) 12 6 6 
<7 =<E    
3 ?D4>F<G5E><5 74=OF<O (�$) 12 6 6 
2) ?D><56GF>G=4O 4FF5EF4F<O 0,6 0,3 0,3 
%4<>EF>OF5?L=4O D45>F4 (6E57>) (%$) 196 98 98 
6 F>< G<E?5:    
%4<>?>47>F>6>4   

196 
98 98 

�>47>F>6>4 > 4FF5EF4F<< 7,4 3,7 3,7 
�5M<= >5N5<, G4E 216 108 108 
$>D<4 ?D><56GF>G=>= 4FF5EF4F<<  74GUF 4<D.74GUF 

 
 

5. %���$����� � %&$'�&'$� ��%&�����/ 
 
5.1. %>45D64=<5 4<EF<??<=O 

7 D4745?4 (F5<O) �4<<5=>64=<5 D4745?4 (F5<O) %>45D64=<5 D4745?4 (F5<O) 
1. �<G=>EF=4O 

ED5D4 >5M5=<O 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1.�<G=>EF=4O ?D575=F4F<O. 
 
 
 
 
 
 
 
 
 
2. �?4=<D>64=<5 ?5DE>=4?L=>7> 
D476<F<O.  
 
 
 
 
 
 

1.$>D<<D>64=<5 >><<G=<>4F<6=OE 
>><?5F5=F<= ?> F5<5 «�<G=>EF=4O 
?D575=F4F<O». $476<F<5 G EFG45=F>6 
GG55=>-?>7=464F5?L=OE 6 D4<>4E 
D45>FO E> E?>64DO<<, GG55=O<< 
<4F5D<4?4<<, 4G4<> < 6<45> 
>><?>=5=F4<<. $476<F<5 G EFG45=F>6 
>><<G=<>4F<6=OE =46O>>6 ?<EL<4 6 
D>D<4F5 <7?>65=<O M?5<5=F4D=>= 
?<G=>= <=D>D<4F<< > E555. 
�D4<<4F<>4: �>D<O G?>FD55?5=<O 
?<G=OE < ?D<FO64F5?L=OE 
<5EF><<5=<=. �D46<?4 >5D47>64=<O 
<=>65EF65==>7> G<E?4 <<5= 
EGM5EF6<F5?L=OE, >5M<= < 
?D<FO64F5?L=O= ?4456<. %F5?5=< 
ED46=5=<O ?D<?474F5?L=OE < =4D5G<=. 
�?D545?5==O= < =5>?D545?5==O= 
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4DF<>?L. �D5<5=4 7DG??O Indefinite 
(Simple). �?47>?O to be, to have. 
�D<546?5=<5 3ed. �5?D46<?L=O5 
7?47>?O. 
2. �6545=<5 < 4>F<6<74F<O =>6OE E?>6 
< 6OD465=<=. 
�D4<<4F<>4: �>D<O < ?D46<?4 
G?>FD55?5=<O >5>D>F4 there is, there 
are. �>?D>E<F5?L=O5 ?D54?>65=<O. 
�?LF5D=4F<6=O5 6>?D>EO. �>?D>EO > 
?>4?564M5<G <?< 57> >?D545?5=<N, 
=4G<=4NM<5EO E 6>?D>E<F5?L=OE 
<5EF><<5=<=: who, what, whose, which 
3. �6545=<5 < 4>F<6<74F<O =>6OE E?>6 
< 6OD465=<=. �G4<D>64=<5 < GF5=<5 
F5>EF>6 ?> >5>7=4G5==>= F5<4F<>5. 
�>=>?>7->?<E4=<5 D45>G57> 4=O. 
�<E>GEE<O > D45>F5 6 >><4=45. 
�D4<<4F<>4: �>D<O < ?D46<?4 
G?>FD55?5=<O >5>D>F4 to be going to 3 
4?O 6OD465=<O 5G4GM57> 6D5<5=<. Past 
Simple, Irregular Verbs, Present Perfect 
4. �6545=<5 < 4>F<6<74F<O =>6OE E?>6 
< 6OD465=<=. 
-4<4?>7-D4EE?D>E (55E544 ?> 
F5?5D>=G); - 4<4?>7->5<5= <=5=<O<< / 
4<4?>7- G55645=<5 (6 D4<>4E D>?56OE 
<7D ?> >5>7=4G5==>= ?D>5?5<4F<>5). 
 �D4<<4F<>4: �>D<O < ?D46<?4 
G?>FD55?5=<O < >5D47>64=<O Present 
Simple and Present Continuous. Word-
building. Suffixes of nouns, verbs, 
adjectives.  

2. .'G55=>-
?>7=464F5?L=4O 
ED5D4 >5M5=<O 

1.�OEL55 >5D47>64=<5 6 $>EE<< 
< 74 DG556><.  
 
 
 
 
 
2. �>= 6G7.  
 
 
3.%FG45=G5E>4O 6<7=L 6 $>EE<< < 
74 DG556>< 
 
 
 
 
 
 
 

1. �6545=<5 < 4>F<6<74F<O =>6OE E?>6 
< 6OD465=<=. �>=>?>7-D47<OL?5=<5 
> D>?< 6OEL57> >5D47>64=<O 4?O 
D476<F<O ?<G=>EF<. �G4<D>64=<5 < 
GF5=<5 F5>EF>6 ?> >5>7=4G5==>= 
F5<4F<>5 ('D>6=< 6OEL57> 
>5D47>64=<O. �64?<D<>4F<< < 
E5DF<D<>4FO).  
�D4<<4F<>4: �>D<O < ?D46<?4 
G?>FD55?5=<O < >5D47>64=<O Past 
Continuous and Past Simple 
 
2.�6545=<5 < 4>F<6<74F<O =>6OE E?>6 
< 6OD465=<=. �>=>?>7 >5 <EF>D<< < 
FD44<F<< <>57> 6G74.  
 
3. �6545=<5 < 4>F<6<74F<O =>6OE E?>6 
< 6OD465=<= ?> F5<5 «�4GG=4O, 
>G?LFGD=4O < E?>DF<6=4O 6<7=L 
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4.%FG45=G5E><5 <564G=4D>4=O5 
>>=F4>FO: =4GG=O5, 
?D>D5EE<>=4?L=O5, >G?LFGD=O5 

EFG45=F>6». �G4<D>64=<5 < GF5=<5. 
�>=<<4=<5 >E=>6=>7> E>45D64=<O 

F5>EF4:                            - D4EE>47O/ 
?<EL<4 74DG556=OE EFG45=F>6 </<?< 
?D5?>4464F5?5= > E6><E 6G74E, - 5?>7</ 
655-E4=FO, <=D>D<4F<>==O5 5G>?5FO 
> 6G74E; - >?<E4=<5 >5D47>64F5?L=OE 
>GDE>6 < ?D>7D4<<. 
�D4<<4F<>4: �D5<5=4 7DG??O �5DD5>F 

 

4.�>=<<4=<5 74?D4L<645<>= 

<=D>D<4F<<:  
- ?D575=F4F<< 74DG556=OE 
>5D47>64F5?L=OE ?D>7D4<</ 6G7>6, 
>GDE>6  
- ?><E> <=D>D<4F<< >5 G=<65DE<F5F4E 
74 DG556><, (O7O>>6OE) L>>?4E/>GDE4E 
< 4D. GG55=OE 746545=<OE E F5?LN 
?D>4>?65=<O >5D47>64=<O E 
<E?>?L7>64=<5< E?D46>G=>= 
?<F5D4FGDO, 6 F>< G<E?5, E5F< 
�=F5D=5F.  
�D4<<4F<>4: �>D<O < ?D46<?4 
G?>FD55?5=<O <>44?L=OE 7?47>?>6 

3.%>F<4?L=>-
>G?LFGD=4O ED5D4 
>5M5=<O 

1. �<D <7GG45<>7> O7O>4. 
 
 
 
 
 
 
 
2.�G?LFGD=O5 >E>55==>EF< < 
=4F<>=4?L=O5 FD44<F<< %,� < 
�5?<>>5D<F4=<<. 
 
 
 
 
 
 
 
3.�D575=F4F<O E6545=<= > E6>5= 
EFD4=5 ($>EE<<). 
 
 
 
 
 
 
 
 

$476<F<5 =46O>>6 <7GG4NM57> GF5=<O 
< <>=>?>7<G5E>>= D5G< (?D575=F4F<O) 
=4 5475 F5<4F<G5E>< >D<5=F<D>64==OE 
<4F5D<4?>6 ?> F5<5 «�<D <7GG45<>7> 
O7O>4» (%,�, �5?<>>5D<F4=<O: 
75>7D4D<G5E>>5 ?>?>65=<5, 
EFD4=>654G5E>4O E4D4>F5D<EF<>4, 
>E=>6=O5 <EF>D<G5E><5 
74>>=><5D=>EF< 6 D476<F<< 
4=7?>7>6>DOM<E EFD4=) 
�D4<<4F<>4: �>D<O < ?D46<?4 
G?>FD55?5=<O < >5D47>64=<O 
EFD444F5?L=>7> 74?>74: �E>55==>EF< 
?5D56>44 EFD444F5?L=OE >5>D>F>6 =4 
DGEE><= O7O>. �5D47>64=<5 
6>?D>E<F5?L=OE < >FD<F4F5?L=OE 
?D54?>65=<=.  
2.$476<F<5 =46O>>6 4G4<D>64=<O E 
?>=<<4=<5< >E=>6=>7> E>45D64=<O < 
6O5>D>G=O< <76?5G5=<5< <=D>D<4F<< 
=4 5475 <4F5D<4?>6 «�G?LFGD=O5 
>E>55==>EF< < =4F<>=4?L=O5 
FD44<F<< %,� < �5?<>>5D<F4=<<». 
$476<F<5 =46O>>6 <7GG4NM57> GF5=<O 
< <>=>?>7<G5E>>= D5G< =4 5475 
F5<4F<G5E>< >D<5=F<D>64==OE 
<4F5D<4?>6 «�G?LFGD4 %,�, 
�5?<>>5D<F4=<<, =4F<>=4?L=O5 
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4.�E=>6O 74>D>6>7> >5D474 
6<7=<. %?>DF < D<F=5EE. �<<=<5 
< ?5F=<5 6<4O E?>DF4.  

FD44<F<<, ?D474=<><, EF5D5>F<?O 
6>E?D<OF<O, =4F<>=4?L=4O 
E4<>5OF=>EFL, D5?<7<O, =4D>4=>5 
F6>DG5EF6>». 
�D4<<4F<>4: �>D<O < ?D46<?4 
G?>FD55?5=<O < >5D47>64=<O ?DO<>= < 
>>E65==>= D5GL, E>7?4E>64=<O 6D5<5=. 
�G4GM55 6 ?D>L54L5<. 
 
3.�4F<>=4?L=O5 FD44<F<< < >5OG4< 
$>EE<<, <EF>D<G5E><5 74>>=><5D=>EF< 
D476<F<O. �5 4>EF>?D<<5G4F5?L=>EF<.     
-<>=>?>7->?<E4=<5 (D>4=>7> >D4O, 
4>EF>?D<<5G4F5?L=>EF5=, <=F5D5E=OE 
<EF>D<G5E><E D4>F>6 < F.4.) - <>=>?>7-
E>>5M5=<5 (> 6O44NM<EEO ?<G=>EFOE, 
>F>DOF<OE, E>5OF<OE < F.4.) - 4<4?>7- 
D4EE?D>E (> ?>574>5, G6<45==><, 
?D>G<F4==><) - 4<4?>7->5<5= 
<=5=<O<< (?> >5>7=4G5==>= 
?D>5?5<4F<>5). 
 �D4<<4F<>4: �>D<O < ?D46<?4 
G?>FD55?5=<O =5?<G=OE D>D< 7?47>?4: 
<=D<=<F<6, ?D<G4EF<5, 75DG=4<=. 
�D<G4EF<5 I ?5DD5>F=>5 (E?>E>5O 
>5D47>64=<O, DG=>F<< 6 ?D54?>65=<<). 
�5746<E<<O= ?D<G4EF=O= >5>D>F 
(E?GG4< G?>FD55?5=<O, E?>E>5O 
?5D56>44). �5D47>64=<5 D>D< 
75DG=4<O, 57> E6>=EF64 < DG=>F<< 6 
?D54?>65=<<, ?5D56>4.  
4. �6545=<5 < 4>F<6<74F<O =>6OE E?>6 
< 6OD465=<= ?> F5<5 «%?>DF». 
�G4<D>64=<5 < GF5=<5 F5>EF>6 
(�O44NM<5EO E?>DFE<5=O. �EF>D<O 
�?<<?<=E><E <7D).  
- <>=>?>7->?<E4=<5 (>5D474 6<7=< 
?N45=, E?>DF<6=OE <5D>?D<OF<=; > 
?5DE?5>F<64E D476<F<O E?>DF4 6 
D57<>=5) 
 

4. 
�D>D5EE<>=4?L=4O 
ED5D4 >5M5=<O 

1. / < <>O 5G4GM4O ?D>D5EE<O  
 
2. �E=>6=O5 ED5DO 45OF5?L=>EF< 
6 44==>= ?D>D5EE<>=4?L=>= 
>5?4EF<.  
$G=>F<>=4?L=O5 >5O74==>EF< 
D47?<G=OE E?5F<4?<EF>6 44==>= 
?D>D5EE<>=4?L=>= ED5DO.  
 
3.�<G=>EF=>5 D476<F<5 < 
?5DE?5>F<6O >4DL5D=>7> D>EF4.  

1.%4<>?D575=F4F<O, D4EE>47 > E6><E 
??4=4E =4 5G4GM55 
 
 
2.�>=<<4=<5 >E=>6=>7> E>45D64=<O: - 
?G5?<F<EF<G5E><5, =4GG=>-
?>?G?OD=O5 < =4GG=O5 F5>EFO >5 
<EF>D<G5E><E 74>>=><5D=>EFOE, 
E4D4>F5D5, ?5DE?5>F<64E D476<F<O 
=4G>< < ?D>D5EE<>=4?L=>= >FD4E?<; - 
F5>EFO <=F5D6LN E> E?5F<4?<EF4<< < 
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 GG5=O<< 44==>= ?D>D5EE<>=4?L=>= 
>5?4EF<; <>=>?>7->?<E4=<5 
DG=>F<>=4?L=OE >5O74==>EF5=; -
<>=>?>7-E>>5M5=<5 (> 6O44NM<EEO 
45OF5?OE =4G>< < ?D>D5EE<>=4?L=>= 
ED5DO, > ?5DE?5>F<64E D476<F<O 
>FD4E?<)  
 
 
3. - MEE5 =4 F5<G ?5DE?5>F<6 
>4DL5D=>7> D>EF4 / 6>7<>6=>EF5= 
?<G=>EF=>7> D476<F<O  
- 4<4?>7 ?D< ?D<5<5 =4 D45>FG; 
4<E>GEE<O ?> >5>7=4G5==>= 
?D>5?5<4F<>5; - 45?>64O <7D4; -
>5EG645=<5 ?D>5?5<=OE 45?>6OE 
E<FG4F<=  
�D4<<4F<G5E><5 >>=EFDG>F<<, 
=5>5E>4<<O5 4?O 6OD465=<O 
E?54GNM<E >><<G=<>4F<6=OE 
DG=>F<=:  
" 74?D>E < ?5D544G4 <=D>D<4F<< 
(>>=>D5F<74F<O, >?<E4=<5, 
?>65EF6>64=<5, >6<44=<5 
?>4F65D645=<O <=D>D<4F<<)  
" 6OD465=<5 < 6OOE=5=<5 >F=>L5=<O 
</<?< ?>7<F<< (6OD465=<5 E>7?4E<O, 
6O=G645==>7> E>7?4E<O, 6>7D465=<O, 
=5E>7?4E<O, 6OD465=<5 =4<5D5=<= < 
F.4.)  
6OD45>F>4 E>6<5EF=>7> D5L5=<O 
(<=EFDG>F<< < >><4=4O, ?D>EL54,     
E>65F, ?>?GG5=<5 D47D5L5=<O, 
?D<7?4L5=<5, >F>47 < F.4.)  
" GEF4=>6?5=<5 < ?>445D64=<5 
>>=F4>F4 (?D<6?5G5=<5 6=<<4=<O, 
D>D<4?L=>5 < =5D>D<4?L=>5 
?D<65FEF6<5, >5D4M5=<5, 
?D54EF46?5=<5 < F.4.)  
" EFDG>FGD<D>64=<5 6OE>47O64=<O 
(66545=<5 F5<O, ?D<6545=<5 ?D<<5D>6, 
?5D5G<E?5=<5, 6OD465=<5 <=5=<O, 
?>4G5D><64=<5 >E=>6=OE <OE?5=, 
?>46545=<5 <F>7>6, ?5D5E>4 > 4DG7>= 
F5<5, 74?D>E <=5=<O E>55E54=<>4, 
?D5DO64=<5 < 6EFG??5=<5 6 55E54G < 
F.4.)  
" >55E?5G5=<5 ?D>F5EE4 >><<G=<>4F<< 
< 6>EEF4=>6?5=<5 57> 6 E?GG45 E5>O 
(E<7=4?O =5?>=<<4=<O, ?D>EL54 
?>6F>D4 6E57> E>474==>7> <?< 57> 
G4EF<, ?D>EL54 ?>4F65D4<FL <?< 
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D47NOE=<FL <=D>D<4F<N < F.4.). 

 
5.2. %FDG>FGD4 4<EF<??<=O 
4?O >G=>= D>D<O >5GG5=<O 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 
�E57> �� % �P �$ %$ 

1 �<G=>EF=4O ED5D4 >5M5=<O 54 - - 15 - 39 

2 'G55=>-?>7=464F5?L=4O ED5D4 
>5M5=<O 

54 - - 15 - 39 

3 %>F<4?L=>->G?LFGD=4O ED5D4 
>5M5=<O 

54 - - 15 - 39 

4 �D>D5EE<>=4?L=4O ED5D4 >5M5=<O 54 - - 15 - 39 

 �5M<= >5N5< 216 - - 60 - 156 

 
4?O 74>G=>= D>D<O >5GG5=<O 

7 D4745?4 
(F5<O) 

�4<<5=>64=<5 D4745?4 (F5<O) �>?<G5EF6> G4E>6 
�E57> �� % �P �$ %$ 

1 �<G=>EF=4O ED5D4 >5M5=<O 52 - - 3 - 49 

2 'G55=>-?>7=464F5?L=4O ED5D4 
>5M5=<O 

52 - - 3 - 49 

3 %>F<4?L=>->G?LFGD=4O ED5D4 
>5M5=<O 

52 - - 3 - 49 

4 �D>D5EE<>=4?L=4O ED5D4 >5M5=<O 52 - - 3 - 49 

 �FF5EF4F<O 8 - - 0,6 - 7,4 

 �5M<= >5N5< 216 - - 6 - 196 

 
5.3. �4=OF<O E5<<=4DE>>7> F<?4  
�G=4O D>D<4 >5GG5=<O 
 

7 
?/? 

7 D4745?4 
(F5<O) 

�<4 
74=OF<O 

�4<<5=>64=<5 �>?<G5EF6> G4E>6 
�$� 

1 
 

1 �$ �<G=>EF=4O ?D575=F4F<O. 
 

 
7 

2 �$ �?4=<D>64=<5 ?5DE>=4?L=>7> 
D476<F<O.  
 

8 

3 2 �$ �OEL55 >5D47>64=<5 6 $>EE<< < 74 
DG556>< 
�>= 6G7. %FG45=G5E>4O 6<7=L 6 $>EE<< 
< 74 DG556>< 

7 
 

4 �$ %FG45=G5E><5 <564G=4D>4=O5 
>>=F4>FO: =4GG=O5, 
?D>D5EE<>=4?L=O5, >G?LFGD=O5  

8 

5 3 �$ �<D <7GG45<>7> O7O>4. �G?LFGD=O5 
>E>55==>EF< < =4F<>=4?L=O5 

5 
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FD44<F<< %,� < �5?<>>5D<F4=<< 
�<D <7GG45<>7> O7O>4 

6 �$ �D575=F4F<O E6545=<= > E6>5= EFD4=5 
($>EE<<). 

5 

7 �$ �E=>6O 74>D>6>7> >5D474 6<7=<. 
%?>DF < D<F=5E. �<<=<5 < ?5F=<5 6<4O 
E?>DF4. 

5 

8 4 �$ 1. / < <>O 5G4GM4O ?D>D5EE<O 5 
9 �$ 2. �E=>6=O5 ED5DO 45OF5?L=>EF< 6 

44==>= ?D>D5EE<>=4?L=>= >5?4EF<.  
$G=>F<>=4?L=O5 >5O74==>EF< 
D47?<G=OE E?5F<4?<EF>6 44==>= 
?D>D5EE<>=4?L=>= ED5DO. �<G=>EF=>5 
D476<F<5 < ?5DE?5>F<6O >4DL5D=>7> 
D>EF4. 

10 

 
�4>G=4O D>D<4 >5GG5=<O  

 

7 
?/? 

7 D4745?4 
(F5<O) 

�<4 
74=OF<O 

�4<<5=>64=<5 �>?<G5EF6> G4E>6 
�$� 

1 
 

1 �$ 1.�<G=>EF=4O ?D575=F4F<O. 
 

1 

2 
 

�$ 2. �?4=<D>64=<5 ?5DE>=4?L=>7> 
D476<F<O.  
 

2 

3 2 �$ �OEL55 >5D47>64=<5 6 $>EE<< < 74 
DG556>< 
�>= 6G7. %FG45=G5E>4O 6<7=L 6 $>EE<< 
< 74 DG556>< 

2 
 

4 �$ %FG45=G5E><5 <564G=4D>4=O5 
>>=F4>FO: =4GG=O5, 
?D>D5EE<>=4?L=O5, >G?LFGD=O5  

1 

5 3 �$ �<D <7GG45<>7> O7O>4. �G?LFGD=O5 
>E>55==>EF< < =4F<>=4?L=O5 
FD44<F<< %,� < �5?<>>5D<F4=<< 
�<D <7GG45<>7> O7O>4 

2 

6 �$ �D575=F4F<O E6545=<= > E6>5= EFD4=5 
($>EE<<). 

- 

7 �$ �E=>6O 74>D>6>7> >5D474 6<7=<. 
%?>DF < D<F=5E. �<<=<5 < ?5F=<5 6<4O 
E?>DF4. 

1 

8 4 �$ 1. / < <>O 5G4GM4O ?D>D5EE<O 1 
9 �$ 2. �E=>6=O5 ED5DO 45OF5?L=>EF< 6 

44==>= ?D>D5EE<>=4?L=>= >5?4EF<.  
$G=>F<>=4?L=O5 >5O74==>EF< 
D47?<G=OE E?5F<4?<EF>6 44==>= 
?D>D5EE<>=4?L=>= ED5DO. �<G=>EF=>5 
D476<F<5 < ?5DE?5>F<6O >4DL5D=>7> 
D>EF4. 

2 
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5.4. �GDE>6>= ?D>5>F (>GDE>64O D45>F4, D4EG5F=>-7D4D<G5E>4O D45>F4, D5D5D4F, >>=FD>?L=4O 
D45>F4) 3 =5 ?D54GE<>FD5=> 
 
 
5.5. %4<>EF>OF5?L=4O D45>F4 
7 D4745?4 

(F5<O) 
�<4O E4<>EF>OF5?L=>= D45>FO �$� �$� 

1-4 �>47>F>6>4 > 4<E>GEE<< ?> F5<5, GF5=<5, ?5D56>4 < 
?5D5E>47 F5>EF4, 6O?>?=5=<5 ?D4>F<G5E><E 7444=<=, 
=4?<E4=<5 MEE5, ?>47>F>6>4 > GEF=><G >?D>EG. 

156 196 

1-4 �>47>F>6>4 > 4FF5EF4F<< - 7,4 
 
 
6. ��$�����&��,�/� &�%�������  
�D< >5GG5=<< <=>EFD4==><G O7O>G <E?>?L7GNFEO E?54GNM<5 >5D47>64F5?L=O5 F5E=>?>7<<: 
- &5E=>?>7<O >><<G=<>4F<6=>7> >5GG5=<O 3 =4?D46?5=4 =4 D>D<<D>64=<5 >><<G=<>4F<6=>= 

>><?5F5=F=>EF< EFG45=F>6, >>F>D4O O6?O5FEO 547>6>=, =5>5E>4<<>= 4?O 444?F4F<< > E>6D5<5==O< 
GE?>6<O< <56>G?LFGD=>= >><<G=<>4F<<.  

- &5E=>?>7<O D47=>GD>6=56>7> (4<DD5D5=F<D>64==>7>) >5GG5=<O 3 ?D54?>?4745F 
>EGM5EF6?5=<5 ?>7=464F5?L=>= 45OF5?L=>EF< EFG45=F>6 E GGUF>< <E <=4<6<4G4?L=OE 
E?>E>5=>EF5=, 6>7<>6=>EF5= < <=F5D5E>6, ?>>MDOO <E D54?<7>6O64FL E6>= F6>DG5E><= ?>F5=F<4?. 
%>744=<5 < <E?>?L7>64=<5 4<47=>EF<G5E><E F5EF>6 O6?O5FEO =5>FN5<?5<>= G4EFLN 44==>= 
F5E=>?>7<<.  

- &5E=>?>7<O <>4G?L=>7> >5GG5=<O 3 ?D54GE<4FD<645F 45?5=<5 E>45D64=<O 4<EF<??<=O =4 
4>EF4F>G=> 46F>=><=O5 D4745?O (<>4G?<), <=F57D<D>64==O5 6 >5M<= >GDE.  

- &5E=>?>7<O <=4<6<4G4?<74F<< >5GG5=<O 3 ?><>745F D54?<7>6O64FL ?<G=>EF=>-
>D<5=F<D>64==O= ?>4E>4, GG<FO64O <=4<6<4G4?L=O5 >E>55==>EF< < ?>FD55=>EF< GG4M<EEO.  

- &5E=>?>7<O F5EF<D>64=<O 3 <E?>?L7G5FEO 4?O >>=FD>?O GD>6=O GE6>5=<O ?5>E<G5E><E, 
7D4<<4F<G5E><E 7=4=<= 6 D4<>4E <>4G?O =4 >?D545?U==>< MF4?5 >5GG5=<O. �4==4O F5E=>?>7<O 
?>76>?O5F ?D5?>4464F5?N 6OO6<FL < E<EF5<4F<7<D>64FL 4E?5>FO, FD55GNM<5 4>?>?=<F5?L=>= 
?D>D45>F><.  

- �D>5>F=4O F5E=>?>7<O 3 >D<5=F<D>64=4 =4 <>45?<D>64=<5 E>F<4?L=>7> 674<<>45=EF6<O 
EFG45=F>6 E F5?LN D5L5=<O 7444G<, >>F>D4O >?D545?O5FEO 6 D4<>4E ?D>D5EE<>=4?L=>= ?>47>F>6>< 
EFG45=F>6, 6O45?OO FG <?< <=GN ?D54<5F=GN >5?4EFL. �E?>?L7>64=<5 ?D>5>F=>= F5E=>?>7<< 
E?>E>5EF6G5F D54?<74F<< <564<EF<??<=4D=>7> E4D4>F5D4 >><?5F5=F<=, D>D<<DGNM<EEO 6 
?D>F5EE5 >5GG5=<O 4=7?<=E>><G O7O>G.  

- &5E=>?>7<O >5GG5=<O 6 E>FDG4=<G5EF65 3 D54?<7G5F <45N 674<<=>7> >5GG5=<O, >EGM5EF6?OO 
>4> <=4<6<4G4?L=GN, F4> < >>??5>F<6=GN >F65FEF65==>EFL 74 D5L5=<5 GG55=OE 7444G.  

- �7D>64O F5E=>?>7<O 3 ?>76>?O5F D476<64FL =46O>< D4EE<>FD5=<O DO44 6>7<>6=OE E?>E>5>6 
D5L5=<O ?D>5?5<, 4>F<6<7<DGO <OL?5=<5 EFG45=F>6 < D4E>DO64O ?<G=>EF=O= ?>F5=F<4? >464>7> 
>5GG4NM57>EO.  

- &5E=>?>7<O D476<F<O >D<F<G5E>>7> <OL?5=<O 3 E?>E>5EF6G5F D>D<<D>64=<N 
D47=>EF>D>==5= ?<G=>EF<, E?>E>5=>= >D<F<G5E>< >F=>E<FLEO > <=D>D<4F<<, G<5=<N >F5<D4FL 
<=D>D<4F<N 4?O D5L5=<O ?>EF46?5==>= 7444G<.  

- �=D>D<4F<>==>->><<G=<>4F<>==O5 F5E=>?>7<< (��&) - D4EL<DONF D4<>< 
>5D47>64F5?L=>7> ?D>F5EE4, ?>6OL4O 57> ?D4>F<G5E>GN =4?D46?5==>EFL, E?>E>5EF6GNF 
<=F5=E<D<>4F<< E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO < ?>6OL5=<N ?>7=464F5?L=>= 
4>F<6=>EF<. � D4<>4E ��& 6O45?ONFEO 2 6<44 F5E=>?>7<=:  

- &5E=>?>7<O <E?>?L7>64=<O >><?LNF5D=OE ?D>7D4<< 3 ?>76>?O5F MDD5>F<6=> 4>?>?=<FL 
?D>F5EE >5GG5=<O O7O>G =4 6E5E GD>6=OE. �G?LF<<54<==O5 ?D>7D4<<O ?D54=47=4G5=O >4> 4?O 
4G4<F>D=>=, F4> < E4<>EF>OF5?L=>= D45>FO EFG45=F>6 < =4?D46?5=O =4 D476<F<5 7D4<<4F<G5E><E < 
?5>E<G5E><E =46O>>6.  

- �=F5D=5F-F5E=>?>7<< 3 ?D54>EF46?ONF L<D>><5 6>7<>6=>EF< 4?O ?><E>4 <=D>D<4F<<, 
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6545=<O =4GG=OE <EE?54>64=<=.  
 
�=F5D4>F<6=O5 < 4>F<6=O5 >5D47>64F5?L=O5 F5E=>?>7<<, <E?>?L7G5<O5 6 4G4<F>D=OE 74=OF<OE 

7 
D4745?4 
(F5<O) 

�<4 
74=OF<O  
( �P, %) 

�E?>?L7G5<O5 <=F5D4>F<6=O5 < 4>F<6=O5 
>5D47>64F5?L=O5 F5E=>?>7<< 

�>?<G5EF6> G4E>6 

�$� �$� 

1-4 �P %>EF46?5=<5 4<4?>7>6  4 - 
1,2 �P �<E>GEE<<: �4>D>6O= >5D47 6<7=<, %<EF5<4 

>5D47>64=<O 6 $>EE<< 
4 - 

4 �P $>?564O <7D4 «$477>6>D ?> F5?5D>=G» 2 2 
 
�D4>F<G5E>4O ?>47>F>6>4 >5GG4NM<EEO 
7 D4745?4 

(F5<O) 
�<4 

74=OF<O 
(��, �$, 

�$) 

�<4O D45>F �>?<G5EF6> 
G4E>6 

- - - - 

 
7. $��� �&���'�/% %$��%&� (�&���'�/� ��&�$���/) ��/ 

&��'-��� ���&$��/ '%�������%&�, �$����'&�'��� �&&�%&�&��  
 

2. ��&���'�%��� ��&�$���/, ��$����/.-�� �$�&��'$/ �&�������/ 
 

2.1. �5F>4<G5E><5 <4F5D<4?O, >?D545?ONM<5 ?D>F54GDO >F5=<64=<O 6 D4<>4E 
F5>GM57> >>=FD>?O GE?5645<>EF< 

 
% F5?LN >?D545?5=<O GD>6=O >6?445=<O >><?5F5=F<O<<, 74>D5??5==O<< 74 4<EF<??<=>=, 6 

7444==O5 ?D5?>4464F5?5< ED>>< ?D>6>4<FEO F5>GM<= < ?D><56GF>G=O= >>=FD>?L 7=4=<=, G<5=<= 
< =46O>>6 >464>7> >5GG4NM57>EO.  

�>EF>O==O= F5>GM<= >>=FD>?L (?>E?5 <7GG5=<O >464>= F5<O) ?>76>?O5F >5GG4NM5<GEO 
E<EF5<4F<7<D>64FL 7=4=<O 6 D47D575 >F45?L=OE F5< 4<EF<??<=O. 

�E5 6<4O F5>GM57> >>=FD>?O >EGM5EF6?ONFEO =4 ?D4>F<G5E><E 74=OF<OE. �D< >F5=>5 
>><?5F5=F<= ?D<=<<45FEO 6> 6=<<4=<5 D>D<<D>64=<5 >><<G=<>4F<6=OE =46O>>6, >?D545?5==>7> 
GD>6=O >G?LFGDO, MF<G5E><5 =46O><, =46O>< 6?445=<O =>D<4<< < ?D46<?4<< 7D4<<4F<>< 
<=>EFD4==>7> O7O>4  4?O 6O?>?=5=<O ?D4>F<G5E><E 7444=<=, 4 F4>65 ?<G=O5 >4G5EF64 
>5GG4NM57>EO. 

�D>F54GD4 >F5=<64=<O >><?5F5=F<= >5GG4NM<EEO >E=>64=4 =4 E?54GNM<E EF4=44DF4E: 
1.�5D<>4<G=>EFL ?D>6545=<O >F5=><. 
2.�=>7>EFG?5=G4F>EFL: >F5=>4 (>4> ?D5?>4464F5?5<, F4> < EFG45=F4<< 7DG??O) < E4<>>F5=>4 

>5GG4NM57>EO, >5EG645=<5 D57G?LF4F>6 < >><??5>E <5D ?> GEFD4=5=<N =54>EF4F>>6. 
3.�4<=EF6> <E?>?L7G5<>= F5E=>?>7<< 4?O 6E5E >5GG4NM<EEO, 6O?>?=5=<5 GE?>6<= 

E>?>EF46<<>EF< D57G?LF4F>6 >F5=<64=<O. 
4.%>5?N45=<5 ?>E?54>64F5?L=>EF< ?D>6545=<O >F5=><. 
�D4F>4O E4D4>F5D<EF<>4 ?D>F54GDO D54?<74F<< F5>GM57> < ?D><56GF>G=>7> >>=FD>?O 4?O 

>F5=>< >><?5F5=F<= >5GG4NM<EEO ?D54EF46?5=4 6 F45?<F5. 
 

�F5=>G=O5 ED54EF64  �D74=<74F<O 45OF5?L=>EF< EFG45=F4 
�<E>GEE<O �F5=>G=O5 ED54EF64, ?>76>?ONM<5 6>?NG<FL >5GG4NM<EEO 

6 ?D>F5EE >5EG645=<O E?>D=>7> 6>?D>E4, ?D>5?5<O < >F5=<FL 
<E G<5=<5 4D7G<5=F<D>64FL E>5EF65==GN F>G>G 7D5=<O =4 
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<=>EFD4==>< O7O>5.  
'D>65=L G<5=<= >5GG4NM57>EO >?D545?O5FEO >F5=>4<< 

«>F?<G=>», «E>D>L>», «G4>6?5F6>D<F5?L=>», 
«=5G4>6?5F6>D<F5?L=>». 

�D<F5D<< < L>4?4 >F5=>< ?D<6545=O 6 ?. 3. $>=44 
>F5=>G=OE ED54EF6. 

�D4>F<G5E><5 7444=<O   $47?<G4NF 7444=<O: 
4) D5?D>4G>F<6=>7> GD>6=O, ?>76>?ONM<5 >F5=<64FL 

< 4<47=>EF<D>64FL 7=4=<5 D4>F<G5E>>7> <4F5D<4?4 (547>6O= 
>5N5< ?5>E<><, D>=5F<><, D4>FO < <=D>D<4F<O, 
?D54EF46?5==O5 =4 <=>EFD4==>< O7O>5) < G<5=<5 ?D46<?L=> 
<E?>?L7>64FL 7D4<<4F<>G, ?>=<<4=<5 E>45D64=<O <4F5D<4?>6 6 
D4<>4E >?D545?5==>7> D4745?4 4<EF<??<=O; 

5) D5>>=EFDG>F<6=>7> GD>6=O, ?>76>?ONM<5 
>F5=<64FL < 4<47=>EF<D>64FL G<5=<O ?5D56>4<FL, 
4=4?<7<D>64FL, ?5D5E>47O64FL <4F5D<4?, >F65G4FL =4 
?>EF46?5==O5 6>?D>EO; 

6) F6>DG5E>>7> GD>6=O, ?>76>?ONM<5 >F5=<64FL < 
4<47=>EF<D>64FL G<5=<O ?D<<5=OFL ?5>E<G5E><5 < 
7D4<<4F<G5E><5 7=4=<O 6 >><<G=<>4F<< =4 <=>EFD4==>< O7O>5.  

'D>65=L G<5=<= < =46O>>6 >5GG4NM57>EO >?D545?O5FEO 
>F5=>4<< «>F?<G=>», «E>D>L>», «G4>6?5F6>D<F5?L=>», 
«=5G4>6?5F6>D<F5?L=>». 

�D<F5D<< < L>4?4 >F5=>< ?D<6545=O 6 ?. 3. $>=44 
>F5=>G=OE ED54EF6. 

-EE5 �F=>E<F5?L=> E6>5>4=O5 D4EEG645=<O EFG45=F4 ?> F5<5, 
7444==>= ?D5?>4464F5?5<. �?46=O<< >D<F5D<O<< >F5=>< MEE5 
O6?O5FEO EF5?5=L >FD465=<O 6 =5< <7GG5==>7> <4F5D<4?4, 4 
F4>65 E4<>EF>OF5?L=>EFL < >D<7<=4?L=>EFL ?>4E>44 EFG45=F4 > 
D4E>DOF<N F5<O, 4D7G<5=F4F<O < E?>E>5=>EFL 46F>D4 
>5>E=>64==> >FEF4<64FL E>5EF65==GN F>G>G 7D5=<O  

�D< >F5=<64=<< MEE5 GG<FO645FEO: 
1. �D7G<5=F4F<O E>5EF65==>= F>G>< 7D5=<O E 

<E?>?L7>64=<5< D<?>E>DE>>= F5D<<=>?>7<<, 4=4?<7>< 
?>7<F<= D<?>E>D>6. 

2. �>7<G=>EFL EG645=<= < G<>74>?NG5=<=. 
3. �FEGFEF6<5 ??47<4F4. 
4. �F>DOF>EFL. 
5. �D4<>F=>EFL.  

'D>65=L G<5=<= < =46O>>6 >5GG4NM57>EO >?D545?O5FEO 
>F5=>4<< «>F?<G=>», «E>D>L>», «G4>6?5F6>D<F5?L=>», 
«=5G4>6?5F6>D<F5?L=>». 

�D<F5D<< < L>4?4 >F5=>< ?D<6545=O 6 ?. 3. $>=44 
>F5=>G=OE ED54EF6. 

�5D5E>47 F5>EF4 �D46<?L=>5 ?>=<<4=<5 < >E<OE?5=<5 ?D>G<F4==>7> 
F5>EF4, <76?5G5=<5 <=D>D<4F<<, ?5D56>4 F5>EF4 547<DGNFEO =4 
=46O>4E ?> 4=4?<7G <=>O7OG=>7> F5>EF4, G<5=<OE <76?5>4FL 
E>45D64F5?L=GN <=D>D<4F<N <7 D>D< O7O>4. 

�>D<4F<6=O5 FD55>64=<O: >5N5< F5>EF4 1000 3 1200 ?. 7=.; 
6D5<O =4 ?>47>F>6>G 8-10 <<=GF. 

 �D< ?5D544G5 >E=>6=>7> E>45D64=<O <=>O7OG=>7> F5>EF4 
>5M5=4GG=>7> E4D4>F5D4 >F5=<64NFEO: 
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 - ?>?=>F4 < F>G=>EFL ?5D544G< >E=>6=>= <=D>D<4F<<;  
- 7=4=<5 =5=FD4?L=>= ?5>E<><;  
- 7=4=<5 F5D<<=>6; 
- E>F<>>G?LFGD=O5 7=4=<O, =5>5E>4<<O5 4?O ?>=<<4=<O 

F5>EF4;  
- E6O7=>EFL ?5D544G< E>45D64=<O; 
 - ?>7<G=>EFL ?>EFD>5=<O E>>5M5=<O (D4E>DOF<5 

?D<G<==>-E?54EF65==OE E6O75=).  
'D>65=L G<5=<= < =46O>>6 >5GG4NM57>EO >?D545?O5FEO 

>F5=>4<< «>F?<G=>», «E>D>L>», «G4>6?5F6>D<F5?L=>», 
«=5G4>6?5F6>D<F5?L=>». 

�D<F5D<< < L>4?4 >F5=>< ?D<6545=O 6 ?. 3. $>=44 
>F5=>G=OE ED54EF6. 

'EF=O= >?D>E %D54EF6> >>=FD>?O, >D74=<7>64==>5 >4> E?5F<4?L=4O 55E544 
?D5?>4464F5?O E >5GG4NM<<EO =4 F5<O, E6O74==O5 E <7GG45<>= 
4<EF<??<=>=, < D4EEG<F4==>5 =4 6OOE=5=<5 >5N5<4 7=4=<= 
>5GG4NM57>EO ?> >?D545?5==><G D4745?G, F5<5, ?D>5?5<5 < F.?. 

$4765D=GFO= >F65F EFG45=F4 4>?65= ?D54EF46?OFL E>5>= 
E6O7=>5, ?>7<G5E>< ?>E?54>64F5?L=>5 E>>5M5=<5 =4 7444==GN 
F5<G, ?>>47O64FL 57> G<5=<5 ?D<<5=OFL >?D545?5=<O, ?D46<?4 6 
>>=>D5F=OE E?GG4OE.  

�>>474F5?< 4?O >F5=>< GEF=>7> >F65F4: 1) 7=4=<5 <4F5D<4?4; 
2) ?>E?54>64F5?L=>EFL <7?>65=<O; 3) 6?445=<5 7D4<>F=>= 
D5GLN =4 <=>EFD4==>< O7O>5; 4) ?D<<5=5=<5 >>=>D5F=OE 
?D<<5D>6; 5) 7=4=<5 D4=55 <7GG5==>7> <4F5D<4?4; 6) EF5?5=L 
4>F<6=>EF< 6 ?D>F5EE5. 

'D>65=L 7=4=<= >5GG4NM57>EO >?D545?O5FEO >F5=>4<< 
«>F?<G=>», «E>D>L>», «G4>6?5F6>D<F5?L=>», 
«=5G4>6?5F6>D<F5?L=>». 

�D<F5D<< < L>4?4 >F5=>< ?D<6545=O 6 ?. 3. $>=44 
>F5=>G=OE ED54EF6. 

&5EF>6O5 7444=<O %<EF5<4 EF4=44DF<7<D>64==OE 6>?D>E>6 (7444=<=) 
?>76>?ONM<E 46F><4F<7<D>64FL ?D>F54GDG <7<5D5=<O GD>6=O 
7=4=<= < G<5=<= EFG45=F>6.  

'D>65=L 7=4=<= >5GG4NM57>EO >?D545?O5FEO >F5=>4<< 
«>F?<G=>», «E>D>L>», «G4>6?5F6>D<F5?L=>», 
«=5G4>6?5F6>D<F5?L=>». 

�D<F5D<< < L>4?4 >F5=>< ?D<6545=O 6 ?. 3. $>=44 
>F5=>G=OE ED54EF6. 

$>?564O <7D4 %D54EF6> >>=FD>?O, >D74=<7>64==>5 6 6<45 <<<F4F<< 
5OF>6>= <?< ?D>D5EE<>=4?L=>= E<FG4F<< 4?O ?D<=OF<O 
E>>F65FEF6GNM<E >><<G=<>4F<6=OE D54>F<= ?> >>=>D5F=O< 
F5<4<. �5GG4NM<=EO, ?D< ?>47>F>6>5 F4><E 7444=<= 
<4>E<<4?L=> 4>?65= GG<FO64FL 6>7<>6=GN 64D<4F<6=>EFL 
D476<F<O E<FG4F<<, <7?>65==>= 6 GE?>6<OE 7444=<O <, ?> 
6>7<>6=>EF<, EG<5FL E?D>7=>7<D>64FL 6>7<>6=O5 64D<4=FO 
D476<F<O. 

'G<FO64NFEO D>=5F<G5E><5, ?5>E<G5E><5 < 7D4<<4F<G5E><5 
=46O>< >><<G=<>4F<<. 

'D>65=L G<5=<= >5GG4NM57>EO >?D545?O5FEO >F5=>4<< 
«>F?<G=>», «E>D>L>», «G4>6?5F6>D<F5?L=>», 
«=5G4>6?5F6>D<F5?L=>». 
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�D<F5D<< < L>4?4 >F5=>< ?D<6545=O 6 ?. 3. $>=44 
>F5=>G=OE ED54EF6. 

 
 
 
 

3.  �&���'�/� %$��%&��, �$�&�$�� � ,���� �&���� 
 

&<?>6O5 7444=<O 4?O F5>GM57> >>=FD>?O GE?5645<>EF< 
 

�5D5G5=L F<?>6OE 6>?D>E>6 > GEF=><G >?D>EG 
1.  �>D<O G?>FD55?5=<O ?<G=OE < ?D<FO64F5?L=OE <5EF><<5=<=. 
2.  �D46<?4 >5D47>64=<O <=>65EF65==>7> G<E?4 <<5= EGM5EF6<F5?L=OE. 
3. �D<FO64F5?L=O= ?4456 <<5= EGM5EF6<F5?L=OE. 
4. %F5?5=< ED46=5=<O ?D<?474F5?L=OE < =4D5G<=. 
5. �?D545?5==O= 4DF<>?L the. 
6. �5>?D545?5==O= 4DF<>?L 4 (4n). 
7. �D5<5=4 7DG??O Simple. 
8. �?47>? to be. 
9. �?47>? to have. 
10. �5?D46<?L=O5 7?47>?O. 
11. �D46<?4 G?>FD55?5=<O >5>D>F4 there is, there are. 
12. �>?D>E<F5?L=O5 ?D54?>65=<O. 
13. �D46<?4 G?>FD55?5=<O >5>D>F4 to be going to 4?O 6OD465=<O 5G4GM57> 6D5<5=<. 
14. �>D<O < ?D46<?4 G?>FD55?5=<O < >5D47>64=<O 6D5<5=< Past Simple. 
15. �>D<O < ?D46<?4 G?>FD55?5=<O < >5D47>64=<O 6D5<5=< Present perfect . 
16. �>D<O < ?D46<?4 G?>FD55?5=<O < >5D47>64=<O 6D5<5=< Present Continuous. 
17.  �>D<O < ?D46<?4 G?>FD55?5=<O < >5D47>64=<O 6D5<5=< Past Continuous < Past 

Simple. 
18. �>D<O < ?D46<?4 G?>FD55?5=<O < >5D47>64=<O 6D5<5= 7DG??O Perfect . 
19. �>44?L=O5 7?47>?O 6 4=7?<=E>>< O7O>5. 
20. �DO<4O < >>E65==4O D5GL. 
21. %>7?4E>64=<5 6D5<5=. 
22. �G4GM55 6 ?D>L54L5<. 
23. �5?<G=O5 D>D<O 7?47>?4: <=D<=<F<6, ?D<G4EF<5, 75DG=4<=. 
24. �5746<E<<O= ?D<G4EF=O= >5>D>F. 
25. �D4<<4F<G5E><5 >>=EFDG>F<<, =5>5E>4<<O5 4?O 6OD465=<O >><<G=<>4F<6=OE 

DG=>F<=. 
 

 
  �D<F5D<< < L>4?4 >F5=>< GEF=>7> >?D>E4 

�D<F5D<< >F5=><: 

�F5=>4 «>F?<G=>» 6OEF46?O5FEO EFG45=FG, 5E?< 6>?D>E  D4E>DOF ?>?=>EFLN E 
<E?>?L7>64=<5< GG55=>= < 4>?>?=<F5?L=>= ?<F5D4FGDO, E ?D<6545=<5< 3-5 ?D<<5D>6. 

�F5=>4 «E>D>L>» 6OEF46?O5FEO EFG45=FG, 5E?< 6>?D>E  D4E>DOF E <E?>?L7>64=<5< F>?L>> 
GG55=>= ?<F5D4FGDO < ?D<6545=<5< 1-2 ?D<<5D>6. 

�F5=>4 «G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, 5E?< 6>?D>E D4E>DOF F>?L>>  G4EF<G=>  
557 ?D<6545=<O ?D<<5D>6.  

�F5=>4 «=5G4>6?5F6>D<F5?L=>» 6OEF46?O5FEO EFG45=FG, 5E?< 6>?D>E =5 D4E>DOF 
 

 
 &<?>6O5 F5<O MEE5 

 (�<EL<5==4O >><<G=<>4F<O =4 <=>EFD4==>< O7O>5) 



16 

1. �>F<6=O= < ?4EE<6=O= >F4OE. 
2. �4>D>6>5 ?<F4=<5. 
3. �OEL55 >5D47>64=<5 6 $>EE<< < 74 DG556>< 3 >E=>6=O5 74>>=><5D=>EF< 

<EF>D<G5E>>7> < E>6D5<5==>7> D476<F<O. 
4. �4>D>6O= >5D47 6<7=<. 
5. �>O 5G4GM4O ?D>D5EE<O (?5DE?5>F<6 >4DL5D=>7> D>EF4 / 6>7<>6=>EF5= ?<G=>EF=>7> 

D476<F<O).  
6. $>?L 6OEL57> >5D47>64=<O 4?O D476<F<O ?<G=>EF<. 

 
�D<F5D<< < L>4?4 >F5=>< MEE5: 

�F5=>4 «>F?<G=>» 3 D45>F4 =4?<E4=4 E GG5F>< 6E5E 7D4<<4F<G5E><E =>D< < ?D46<? 
4=7?<=E>>7> O7O>4. &5?< ?>EF46?5=O OE=> 6E5EF>D>==5 D4E>DOFO < ?>?=>EFLN E>>F65FEF6GNF 
F5<5, 6 ?>?=>< >5N5<5 <E?>?L7G5FEO ?5>E<>4. $45>F4 <<55F ?>7<G5E>GN E6O74==>EFL < F5?L=>EFL. 
%F<?L < ?>4E>4 6 D45>F5 >FD4645F G<5=<5 <=F5D?D5F<D>64FL E>6D5<5==>5 E>EF>O=<5 >5M5EF64 E 
?>7<F<< <56>G?LFGD=>7> D47=>>5D47<O.  

�F5=>4 «E>D>L>» 3 F5>EF =4?<E4= 7D4<>F=O< O7O>><, >L<5>> >G5=L =5<=>7>. &5?< < 7444G< 
6?>?=5 D4E>DOFO, 6 >E=>6=>< E>>F65FEF6GNF F5<5, <E?>?L7G5FEO 4>F<6=O= 6>>45G?OD ?> F5<5 
&5?< OE=O, D54?<EF<G=O < 445>64F=O F5<5.  

�F5=>4 «G4>6?5F6>D<F5?L=>» - 6 D45>F5 6<4=> EFD5<?5=<5 46F>D4 > F5?>EF=>EF< D45>FO < 
>5>E=>64=<5 6O6>4>6. �474 44==OE < <EF>G=<>>6 4>EF4F>G=4. %F<?L >?<E4F5?L=O= <?< 
D5>><5=44F5?L=O=. �5<=>7> ?>65DE=>EF=OE <?< =5445>64F=OE EG645=<=.  

�F5=>4 «=5G4>6?5F6>D<F5?L=>» - D45>F4 <<55F >F45?L=O5 G4EF<, >>F>DO5 6 ?>7<G5E>>5 F5?>5 
=5 E6O74=O. �>?LL>5 >>?<G5EF6> 7D4<<4F<G5E><E >L<5>>. �54>EF4F>G=>5 ?>=<<4=<5 D4>F>6 < 
?D>5?5<. �54>EF4F>G=>5 G?>FD55?5=<5 ?5>E<><. �FEGFEF6G5F G<5=<5 <=F5D?D5F<D>64FL 
E>6D5<5==>5 E>EF>O=<5 >5M5EF64 E ?>7<F<< <56>G?LFGD=>7> D47=>>5D47<O. 

  
&<?>6O5 E<FG4F<< 4?O D>?56>= <7DO 

('EF=4O >><<G=<>4F<O =4 <=>EFD4==>< O7O>5) 
1. � 64< ?D<5E4? 4DG7 <7 �=7?<< < 6O, 6EFD5F<6L<EL 6 D5EF>D4=5, >5EG6445F5 >G?<=4D=O5 

FD44<F<< 64L<E EFD4=. $4EE>46<F5 > >G?<=4D=OE FD44<F<OE 6 $>EE<< < D4EE?D>E<F5 
64L57> 4DG74 > FD44<F<OE 6 57> EFD4=5. �5EG4<F5 6 G5< 74>?NG45FEO <56>G?LFGD=>5 
D47=>>5D47<5 6 >G?<=4D=OE FD44<F<OE =4 E57>4=OL=<= 45=L.  

2. �O ?D>E>4<F5 E>55E54>64=<5 ?D< ?D<5<5 =4 D45>FG, D4EE>46<F5 > E6><E ?<G=OE, 45?>6OE 
< ?D>D5EE<>=4?L=OE >4G5EF64E, D4EE?D>E<F5 > E6><E 5G4GM<E DG=>F<>=4?L=OE 
>5O74==>EFOE. 
 
 

�D<F5D<< < L>4?4 >F5=>< D>?56>= <7DO 
%D54EF6> >>=FD>?O, >D74=<7>64==>5 6 6<45 <<<F4F<< 5OF>6>= <?< ?D>D5EE<>=4?L=>= E<FG4F<< 

4?O ?D<=OF<O E>>F65FEF6GNM<E >><<G=<>4F<6=OE D54>F<= ?> >>=>D5F=O< F5<4<. �5GG4NM<=EO, 
?D< ?>47>F>6>5 F4><E 7444=<= <4>E<<4?L=> 4>?65= GG<FO64FL 6>7<>6=GN 64D<4F<6=>EFL 
D476<F<O E<FG4F<<, <7?>65==>= 6 GE?>6<OE 7444=<O <, ?> 6>7<>6=>EF<, EG<5FL E?D>7=>7<D>64FL 
6>7<>6=O5 64D<4=FO D476<F<O. 

'G<FO64NFEO D>=5F<G5E><5, ?5>E<G5E><5 < 7D4<<4F<G5E><5 =46O>< >><<G=<>4F<<. 
 

�F5=>4 «>F?<G=>» 3 %<FG4F<O D4E>DOF4 ?>?=>EFLN, >><<G=<>4F<O ?D>E>4<?4 E 
<E?>?L7>64=<5< 5>?LL>7> >5N5<4 ?5>E<><, 557 7D4<<4F<G5E><E >L<5>>. %FG45=F 5OEFD> 
D547<D>64? =4 D476<F<5 E<FG4F<<. 

�F5=>4 «E>D>L>» 3 %<FG4F<O D4E>DOF4 ?>?=>EFLN, >><<G=<>4F<O ?D>E>4<?4 E 
<E?>?L7>64=<5< >7D4=<G5==>7> >5N5<4 ?5>E<>< < E =57=4G<F5?L=O<< 7D4<<4F<G5E><<< 
>L<5>4<<. %FG45=F =5 6E5744 5OEFD> D547<D>64? =4 D476<F<5 E<FG4F<<. �57=4G<F5?L=O5 
D>=5F<G5E><5 >L<5><. 
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�F5=>4 «G4>6?5F6>D<F5?L=>» %<FG4F<O D4E>DOF4 =5 ?>?=>EFLN. �5>E<G5E><= >5N5< 
>7D4=<G5=, 5>?LL>5 >>?<G5EF6> 7D4<<4F<G5E><E < D>=5F<G5E><E >L<5>>. GF> 74FDG4=O5F 
>><<G=<>4F<N.  %FG45=F E FDG4>< D547<DG5F =4 D476<F<5 E<FG4F<<. 

�F5=>4 «=5G4>6?5F6>D<F5?L=>» - %<FG4F<O =5 D4E>DOF4. �5>E<G5E><= 74?4E 4?O 
>><<G=<>4F<< =4 7444==GN E<FG4F<N =5 ED>D<<D>64=.  

 
&<?>6O5 ?D4>F<G5E><5 7444=<O 

�444=<5 1. �D>G<F4=F5 < ?5D5654<F5 F5>EF. 

Personal Presentation 
My name is Oleg. 
Our family is neither large nor small. I have a mother, a father and a sister. We all live together in a 

three-room flat in one of the industrial districts of Istanbul. We are an average family. 
My father Mike Popovich is 50 years old. He is a tall and well-built man with short black hair and 

grey eyes. He works as an engineer at a big plant. He likes his work and spends most of his time there. By 
character my father is a quiet man, while my mother is energetic and talkative. 

My mother9s name is Laura Petrovna. She is a teacher of mathematics and plays the balalaika well. 
My mother always has a lot of work to do about the house and at school. She is a busy woman and we all 
help her. 

My sister9s name is Christina. Like our mother Christina has blue eyes and fair hair. She is a very 
good-looking girl. Christina is two years younger than me. She is a pupil of the 7th form. She does well at 
school and gets only good and excellent marks. Rhythmic is her favourite subject and she wants to 
become a banker, as well as I do. 

Our family is very united. We like to spend time together. In the evenings we watch TV, read books 
and newspapers, listen to music or just talk about the events of the day. Our parents don9t always agree 
with what we say, but they listen to our opinion. 

All of us like to spend our weekends in the country. We often go to the village where our 
grandparents live. They are aged pensioners now, but prefer to live in the country. My grand-grandmother 
is still alive. She lives in my grandmother9s family and is always glad to see us. Her health is poor and 
she asks us to come and see her more often. I also have many other relatives: uncles, aunts, cousins. We 
are happy when we are together. 

 
�444=<5 2. �F65FLF5 =4 6>?D>EO > F5>EFG (GEF=4O >><<G=<>4F<O) 

1. Where do Oleg and his family live? 
2. How old is Oleg9s father? 
3. Where does he work? 
4. What appearance does Oleg9s mother have? 
5. Who is Christina? 
6. How do they like to spend their time? 
 
�444=<5 3. $4EE>46<F5 > E6>5= E5<L5 (GEF=4O >><<G=<>4F<O). 

 
�444=<5 4. �5D5654<F5 E?54GNM<5 ?D54?>65=<O E GG5F>< 7D4<<4F<G5E><E =>D< < ?D46<?: 

1. There is a sofa in the bedroom. 
2. There are two windows in the hall. 
3. There is a picture on the wall. 
4. There are apple trees in the garden. 
5. Is there a living room in the house? 3 Yes, there is. 

 
�444=<5 5. �5D545?4= ?D54?>65=<O 6 6>?D>E<F5?L=O5: 

There is a carpet on the floor. 
There are chairs in the room. 
There is a TV in the living-room. 
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�444=<5 6. �D>G<F4=F5 < ?5D5654<F5 F5>EF 

 
Healthy Food 
 

Eating is fun, especially when you are hungry. Most people have a favourite food. 
Some people enjoy eating sweet things like cakes, chocolates and ice cream. Other people 
enjoy savoury foods like cheese and meet. Enjoying eating is our body9s way of making sure 
that is gets the things it needs to work properly. 

Food helps us to keep warm, talk, run and do all the other things we do. It helps us to 
grow and stay healthy. 

Vitamins also help us to be healthy. Scientists name vitamins after the alphabet. All of 
them are very important, for example: vitamin C keeps our skin and gums healthy. It is found 
in fresh fruit and green vegetables, such as oranges, blackcurrants, lettuce. Brussels sprouts 
and spinach also contain a lot of vitamin C. 

 
Vitamin D helps our bones to grow strong and hard, and we are able to make it for 

ourselves if our skin gets enough sunlight. But we can also get vitamin D if we eat fish, milk, 
butter, cheese and margarine. Some people buy pills and tablets containing vitamins. But most 
of us get more than enough of them from our food. 
 

�444=<5 7. �D>G<F4=F5 F5>EF < E>>F=5E<F5 747>?>6>< E >464O< 4574F5<. 

 

The vitamin to make your hard. 
Tastes differ. 
You can9t live without food. 
Vitamins and the ABC. 
 

�444=<5 8. /6?ONFEO ?< GF65D645=<O <EF<=>= (T) <?< ?>6LN (F)? 

When we enjoy eating our body gets everything to work well. ______ 
To get vitamins you need to buy pills. ______ 
Vitamin C is important for our skin. ______ 
You can get vitamin D only when eating special food. ______ 
 

�444=<5 9. �5D5E>46<F5 F5>EF (GEF=4O >><<G=<>4F<O).  

 
�444=<5 10. %>EF46LF5 <>=>?>7 >5 <EF>D<< < FD44<F<OE 64L57> 6G74.(GEF=4O 

>><<G=<>4F<O) 

 

�444=<5 11. �D>G<F4=F5 4<4?>7 < E>EF46LF5 E6>=, G7=4=F5, GF> 64L 4DG7 45?45F 4?O F>7>, 

GF>5O 65EF< 74>D>6O= >5D47 6<7=<. 
- Hi, George! 
-Hi, Emily, how are you? 
-I feel great. I have just got back from the sports centre. 
-I didn't know you were doing any sports. 
-Oh yes, I have got quite a few exercise classes. On Mondays and Wednesdays I go to aerobics. 
It's really good for my heart and it helps me keep fit. 
-That's true. You look great. Do you do any other kind of sport? 
-On Tuesdays I go to yoga. It is good for stretching the body and for relaxing. 
-What about Fridays? Do you do anything on Fridays? 
-Of course I do. I go to the gym and do weight training for two hours. It is the best way to build 
up your muscles. But George, do you do anything to make your life healthier? 
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-I also do some exercises. I go running every day before breakfast. And I do exercises every 
night before I go to bed. I do press-ups and sit-ups. 
-Why don't you come with me to the I sports centre? You will have the opportunity to train 
more. Your exercises are simply a warm up before real training. 
-You're right, I should try it. But do you do anything else to stay healthy? 
-As you know, I don't smoke cigarettes and I don't drink alcohol. I try to avoid stressful 
situations and not to worry about any problems. I also only eat healthy food. 
-Healthy food? 
-Yes, vegetables, fruit, cereals, whole-meal bread... 
-I think I will also try to make my way of living healthier. I'll eat only healthy food. And... when 
are we going to the sports centre?... 

 
�D<F5D<< < L>4?4 >F5=>< 6O?>?=5=<O ?D4>F<G5E>>7> 7444=<O 

�F5=>4 «>F?<G=>» EFG45=F 6O?>?=<? D45>FG 6 ?>?=>< >5N5<5 E E>5?N45=<5< =5>5E>4<<>= 
?>E?54>64F5?L=>EF< 45=EF6<=; 6 >F65F5 ?D46<?L=> < 4>>GD4F=> 6O?>?=O5F 6E5 74?<E<, F45?<FO, 
D<EG=><, G5DF56<, 7D4D<><, 6OG<E?5=<O; ?D46<?L=> 6O?>?=O5F 4=4?<7 >L<5>>. 

�F5=>4 «E>D>L>» EFG45=F 6O?>?=<? FD55>64=<O > >F5=>5 «5», => 4>?GM5=O 2-3 =54>G5F4. 
�F5=>4 «G4>6?5F6>D<F5?L=>» - EFG45=F 6O?>?=<? D45>FG =5 ?>?=>EFLN, => >5N5< 

6O?>?=5==>= G4EF< F4>>6, GF> ?>76>?O5F ?>?GG<FL ?D46<?L=O5 D57G?LF4FO < 6O6>4O; 6 E>45 
?D>6545=<O D45>FO 5O?< 4>?GM5=O >L<5><. 

�F5=>4 «=5G4>6?5F6>D<F5?L=>» - EFG45=F 6O?>?=<? D45>FG =5 ?>?=>EFLN <?< >5N5< 
6O?>?=5==>= G4EF< D45>FO =5 ?>76>?O5F E45?4FL ?D46<?L=OE 6O6>4>6;  

�D<F5D<< < L>4?4 >F5=>< ?5D56>44 F5>EF4  
 �D< ?5D56>45 F5>EF4 >F5=<645FEO 445>64F=>EFL ?5D56>44, F. 5. F>G=>EFL < ?>?=>F4 ?5D544G< 

>4> >?NG56>=, F4> < 6F>D>EF5?5==>= <=D>D<4F<<. �5D56>4 >F5=<645FEO 6 100 54??>6. �D< MF>< 74 
?D46<?L=O= ?5D56>4:  

1) ?5>E<G5E><E 54<=<F 445FEO >F 0 3 40 54??>6 (65D=O= 6O5>D M>6<64?5=F>6 E?>6; ?5D56545=O 
6E5 E?>64, >4> =5=FD4?L=>=, F4> < F5D<<=>?>7<G5E>>= ?5>E<><; ?5D544=O 6E5 D54?<< < <<5=4 
E>5EF65==O5; ?D46<?L=> ?5D56545=O 6E5 E6>5>4=O5 < GE?>6=O5 E?>6>E>G5F4=<O); 

 2) 7D4<<4F<G5E><E 54<=<F < >>=EFDG>F<= 3 0 3 40 54??>6 (65D=O= ?5D56>4 6<4>-6D5<5==OE 
D>D< 7?47>?4, 74?>74 < =4>?>=5=<O 7?47>?4, <>44?L=OE 7?47>?>6, =5?<G=OE D>D< 7?47>?4 < 
>>=EFDG>F<= E =<<<; ?D46<?L=> ?5D544=> G<E?> < ?4456 EGM5EF6<F5?L=OE; GGF5=O ?D< ?5D56>45 
EF5?5=< ED46=5=<O ?D<?474F5?L=OE < =4D5G<=);  

3) E<=F4>E<G5E><E >>=EFDG>F<= 3 0 3 10 54??>6 (65D=> 6O5D4=> 7=4G5=<5 E?>6- 74<5EF<F5?5=; 
?5D544=O M<D4F<G5E><5 >>=EFDG>F<<);  

4) EF<?<EF<G5E>< ?D46<?L=O= (445>64F=O=) ?5D56>4 3 0 3 10 54??>6. �4 F6>DG5E><5 =4E>4><, 
G44G=O5 >D<7<=4?L=O5 FD4=ED>D<4F<<, 4DG7<5 E?>E>5O GF>G=5=<O E<OE?4 F5>EF4 4>546?O5FEO >F 0 
4> 10 54??>6.  

%>>F65FEF6<5 >>?<G5EF64 =45D4==OE 54??>6 >F5=>5: 
�F5=>4 «>F?<G=>» 100 54??>6 3 85 54??>6 
�F5=>4 «E>D>L>» 84 54??>6 3 75 54??>6 
�F5=>4 «G4>6?5F6>D<F5?L=>» - 74 54??4 3 50 54??>6 
�F5=>4 «=5G4>6?5F6>D<F5?L=>» - <5=55 50 54??>6  

�D<F5D<< < L>4?4 >F5=>< ?5D5E>474 F5>EF4  
�D46<?L=>5 ?>=<<4=<5 < >E<OE?5=<5 ?D>G<F4==>7> F5>EF4, <76?5G5=<5 <=D>D<4F<<, ?5D56>4 

F5>EF4 547<DGNFEO =4 =46O>4E ?> 4=4?<7G <=>O7OG=>7> F5>EF4, G<5=<OE <76?5>4FL E>45D64F5?L=GN 
<=D>D<4F<N <7 D>D< O7O>4. 

�>D<4F<6=O5 FD55>64=<O: >5N5< F5>EF4 1000 3 1200 ?. 7=.; 6D5<O =4 ?>47>F>6>G 8-10 <<=GF. 
 �D< ?5D544G5 >E=>6=>7> E>45D64=<O <=>O7OG=>7> F5>EF4 >5M5=4GG=>7> E4D4>F5D4 

>F5=<64NFEO: 
 - ?>?=>F4 < F>G=>EFL ?5D544G< >E=>6=>= <=D>D<4F<<;  
- 7=4=<5 =5=FD4?L=>= ?5>E<><;  
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- 7=4=<5 F5D<<=>6; 
- E>F<>>G?LFGD=O5 7=4=<O, =5>5E>4<<O5 4?O ?>=<<4=<O F5>EF4;  
- E6O7=>EFL ?5D544G< E>45D64=<O; 
 - ?>7<G=>EFL ?>EFD>5=<O E>>5M5=<O (D4E>DOF<5 ?D<G<==>-E?54EF65==OE E6O75=).  
�>>474F5?< >F5=<64NFEO ?> 5-54??L=>= L>4?5:  
�F5=>4 «>F?<G=>» 100 54??>6 3 ?>=<<45F >E=>6=>5 E>45D64=<5 ?D>G<F4==>7> < 

GE?OL4==>7> <4F5D<4?4, ?>GF< 6E5 45F4?< < E<OE?>6O5 E6O7< <564G E>45D64F5?L=O<< 
>><?>=5=F4<< < G4EFO<< F5>EF4, E>45D64=<5 6OE>47O64=<O >F?<G45FEO E6O7=>EFLN, ?>?=>F>=, 
4D7G<5=F<D>64==>EFLN, 6OD465=<5< E>5EF65==>= F>G>< 7D5=<O; D5GL ?5>E<G5E>< < 7D4<<4F<G5E>< 
D47=>>5D47=4, 4>?GE>4NFEO 1-3 >L<5>< (54<=<G=O5 >L<5><, <E?D46?O5<O5 ?GF5< E4<>>>DD5>F<<, 
=5 GG<FO64NFEO). 

�F5=>4 «E>D>L>» ?>=<<45F >E=>6=>5 E>45D64=<5 ?D>G<F4==>7> <4F5D<4?4 < =5>>F>DO5 
45F4?<, D5GL ?5>E<G5E>< < 7D4<<4F<G5E>< D47=>>5D47=4, 6OE>47O64=<O ?>7<G=O, ?>EFD>5=O =4 
>E=>65 <765EF=OE 4?7>D<F<>6, 4>?GE>4NFEO =5>>F>DO5 >L<5><. 

�F5=>4 «G4>6?5F6>D<F5?L=>» - ?>=<<45F 7=4G<F5?L=GN G4EFL >E=>6=>7> E>45D64=<O 
?D>G<F4==>7> < GE?OL4==>7>, => 557 45F4?5=, 4>?GE>4NFEO >L<5><, =5 ?D5?OFEF6GNM<5 
?>=<<4=<N E<OE?4 6OE>47O64=<O. 

�F5=>4 «=5G4>6?5F6>D<F5?L=>» - G4EF<G=> 6>E?D><76>4<F E>45D64=<5 ?D>G<F4==>7> < 
GE?OL4==>7> <4F5D<4?4, E>EF>OM57> <7 ?D>EF5=L<E E?>6 < ?D54?>65=<=, <=>7>G<E?5==O5 >L<5>< 
74FDG4=ONF ?>=<<4=<5 E<OE?4 6OE>47O64=<O, D47?<G45F >F45?L=O5 E?>64 < DD47O ?D< GF5=<<. 

�D<F5D<< < L>4?4 >F5=><  
<>=>?>7<G5E>>7> (4<4?>7<G5E>>7>) E>>5M5=<O ?> F5<5 

«�4GF5=>» �>D<4F<6=O5 FD55>64=<O: >5N5< 6OE>47O64=<O 12 3 25 DD47. �>?=>5 D4E>DOF<5 
F5<O. �>74FO= ?5>E<G5E><= 74?4E. �D46<?L=>5 ?5>E<G5E>>5, 7D4<<4F<G5E>>5 < D>=5F<G5E>>5 
>D>D<?5=<5 6OE>47O64=<O. �EF5EF65==O= F5<? D5G<, >FEGFEF6<5 74<5F=OE ?4G7. �>?=4O E<OE?>64O 
7465DL5==>EFL < ?>7<G=>EFL 6OE>47O64=<O. �4?<G<5 6O6>4>6, 74>?NG5=<O. 

«=5 74GF5=>» &5<4 =5 D4E>DOF4. �54=O= ?5>E<G5E><= 74?4E. �>?LL>5 >>?<G5EF6> 
7D4<<4F<G5E><E, ?5>E<G5E><E < D>=5F<G5E><E >L<5>>. �54?5==O= F5<? D5G<. �?<F5?L=O5 ?4G7O. 
%<OE?>64O =57465DL5==>EFL 6OE>47O64=<O. �FEGFEF6<5 ?>7<>< 6 6OE>47O64=<<. �FEGFEF6<5 
6O6>4>6 < 74>?NG5=<O. 

 
 

&<?>6O5 F5<O 4?O 4<E>GEE<< 
    ('EF=4O >><<G=<>4F<O =4 <=>EFD4==>< O7O>5) 

1. �>F<6=O= < ?4EE<6=O= >F4OE. �=4G5=<5 >F4OE4 4?O 74>D>6LO. �D5<<GM5EF64 < =54>EF4F>< 
4>F<6=>7> < ?4EE<6=>7> 6<4>6 >F4OE4 4?O E>6D5<5==>7> >5M5EF64. �56>G?LFGD=O5 
D47?<G<O 6 6<44E >F4OE4  - >4> >F4OE4NF 5D<F4=FO < DGEE><5? 

2. �E=>6=O5 <EF>D<G5E><5 74>>=><5D=>EF< D476<F<O 4=7?>7>6>DOM<E EFD4= (�D<F4=<O, %,�, 
�4=444, �6EFD4?<O). 

3. �56>G?LFGD=>5 D47=>>5D47<5 FD44<F<= < >5OG456 6 $>EE<< < �D<F4=<< 3 FD44<F<< 6 
>G?LFGD5, <E>GEEF65. �D464<6O5 < ?>6=O5 EF5D5>F<?O > 46GE >G?LFGD4E. 

 
�D<F5D<< < L>4?4 >F5=>< GG4EF<O 6 4<E>GEE<< 

 
�<E>GEE<O ?>76>?O5F 6>?NG<FL >5GG4NM<EEO 6 ?D>F5EE >5EG645=<O E?>D=>7> 6>?D>E4, 

?D>5?5<O < >F5=<FL <E G<5=<5 4D7G<5=F<D>64FL E>5EF65==GN F>G>G 7D5=<O =4 <=>EFD4==>< 
O7O>5.  

'G<FO64NFEO D>=5F<G5E><5, ?5>E<G5E><5 < 7D4<<4F<G5E><5 =46O>< >><<G=<>4F<<. 
 

�F5=>4 «>F?<G=>» 3 %FG45=F ?>?=>EFLN E<>7 4D7G<5=F<D>64FL E6>N F>G>G 7D5=<O, 
>><<G=<>4F<O ?D>E>4<?4 E <E?>?L7>64=<5< 5>?LL>7> >5N5<4 ?5>E<><, 557 7D4<<4F<G5E><E 
>L<5>>. %FG45=F 5OEFD> D547<D>64? =4 D476<F<5 E<FG4F<<. 

�F5=>4 «E>D>L>» 3 %FG45=F G4EF<G=> E<>7 4D7G<5=F<D>64FL E6>N F>G>G 7D5=<O, 
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>><<G=<>4F<O ?D>E>4<?4 E <E?>?L7>64=<5< >7D4=<G5==>7> >5N5<4 ?5>E<>< < E =57=4G<F5?L=O<< 
7D4<<4F<G5E><<< >L<5>4<<. %FG45=F =5 6E5744 5OEFD> D547<D>64? =4 D476<F<5 E<FG4F<<. 
�57=4G<F5?L=O5 D>=5F<G5E><5 >L<5><. 

�F5=>4 «G4>6?5F6>D<F5?L=>» %FG45=F E FDG4>< 4D7G<5=F<D>64? E6>N F>G>G 7D5=<O. 
�5>E<G5E><= >5N5< >7D4=<G5=, 5>?LL>5 >>?<G5EF6> 7D4<<4F<G5E><E < D>=5F<G5E><E >L<5>>, GF> 
74FDG4=O5F >><<G=<>4F<N.  %FG45=F E FDG4>< D547<DG5F =4 D476<F<5 E<FG4F<<. 

�F5=>4 «=5G4>6?5F6>D<F5?L=>» %FG45=F =5 <>65F GG4EF6>64FL 6 4<E>GEE<< <7-74 
>7D4=<G5==>7> ?5>E<G5E>>7> >5N5<4 < >FEGFEF6<O 7=4=<= > =>D<4E < ?D46<?4E 7D4<<4F<G5E>>7> 
EFD>O O7O>4. 

 
&<?>6O5 F5EF>6O5 7444=<O 

1. Because the first pair of shoes did not fit properly, he asked for ... . 
a. another pants    b. other pants    c. the other ones   d. another pair 
2. ... the Boston Red Sox have often been outstanding, they haven9t won the World Series since 1918. 
a. However     b. Yet    c. That   d. Although 
3. ... many computer software programs that possess excellent word-processing capabilities. 
a. There are b. The  c. There is a lot of       d. Some 
4. Many Middle Eastern diplomats still feel that the USA is intent ... the ultimate policeman in the region. 
a. to being    b. being     c. be       d. on being 
5. Woodrow Wilson believed the United States' entry into World War I would ... the war in months. 
a. to finish   b. finish   c. finishing    d. will have finished 
6. ... of New York's Erie Canal greatly enhanced trade in the upstate region. 
a. The complete   b. Completing   c. A completing   d. The completion 
7. After ... the skin, a leech is best removed by the application of either salt or heat. 
a. it attaches to   b. attaching to   c. its attaching to   d. where it attaches to 
8. ... east of the Mississippi River. 
a. Indigo was grown usually   b. Usually grown was Indigo 
c. Indigo usually grown      d. Indigo was usually grown 
9. ... wrote the operetta "Babes in Toyland", drawn from the childhood characters of Mother Goose. 
a. That was Victor Herbert who    b. Victor Herbert who 
c. Since it was Victor Herbert      d. It was Victor Herbert who 
10. Some of the oldest and most widespread creation myths are ... involving the "Earth Mother". 
a. those    b. them   c. they    d. their 
11. In... , compact disk technology has almost made record albums obsolete. 
a. the decade from   b. the decade since     c. the past decade      d. decade ago the 
12. In the first few months of life, an infant learns how to lift its hands, how to smile and ... . 
a. how its parents to recognize    b. how to recognize its parents 
c. to be recognizing its parents    d. the recognizing of its parents 
13. Juana Inez de la Cruz ... Mexico's greatest female poet. 
a. considered   b. considered to be    c. is considered to be    d. is consideration 
14. Because the metal mercury ... in direct proportion to temperature, it was once used as the indicator in 
common thermometers. 
a. is expanding   b. expands c.   is expanded    d. expanded 
15. ... what is now San Salvador, Christopher Columbus believed that he had found Japan. 
a. He reached   b. When did he reach   c. Having reached    d. Whether he reached 
 

 
�D<F5D<< < L>4?4 >F5=>< F5EF>6OE 7444=<= 

�464><G EFG45=FG >F6>4<FEO =4 F5EF<D>64=<5 6D5<O, E>>F65FEF6GNM55 >>?<G5EF6G F5EF>6OE 
7444=<=. �> >>>=G4=<O F5EF4 EFG45=F <>65F 5M5 D47 ?D>E<>FD5FL 6E5 E6>< >F65FO =4 7444=<O < ?D< 
=5>5E>4<<>EF< 6=5EF< >>DD5>F<6O.  

�F5=>4 «>F?<G=>»3 EFG45=F 6O?>?=O5F ?D46<?L=> 86-100 % F5EF>6OE 7444=<=. 
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�F5=>4 «E>D>L>»3 EFG45=F 6O?>?=O5F ?D46<?L=> 71-85 % F5EF>6OE 7444=<=. 
�F5=>4 «G4>6?5F6>D<F5?L=>» - EFG45=F 6O?>?=O5F ?D46<?L=> 51-70% F5EF>6OE 7444=<=  
�F5=>4 «=5G4>6?5F6>D<F5?L=>» - EFG45=F 6O?>?=O5F ?D46<?L=> 4> 50% F5EF>6OE 7444=<=  
 
 

&<?>6O5 7444=<O 4?O ?D><56GF>G=>= 4FF5EF4F<< 
 

�5D5G5=L F<?>6OE >>=FD>?L=OE 6>?D>E>6 4?O GEF=>7> >?D>E4 =4 ?D><56GF>G=>= 4FF5EF4F<< 
(74G5F) 

&5<O 6O=>E<<O5 =4 74G5F: 
1.�<G=>EF=4O ?D575=F4F<O. 
2.�?4=<D>64=<5 ?5DE>=4?L=>7> D476<F<O. 
3.�OEL55 >5D47>64=<5 6 $>EE<< < 74 DG556><.  
4. �>= 6G7.  
5.%FG45=G5E>4O 6<7=L 6 $>EE<< < 74 DG556>< 
6.%FG45=G5E><5 <564G=4D>4=O5 >>=F4>FO: =4GG=O5, ?D>D5EE<>=4?L=O5, >G?LFGD=O5 
 

1. �E=>6=O5 >4F57>D<< <<5=< EGM5EF6<F5?L=>7> 6 4=7?<=E>>< O7O>5. 
2. �<O ?D<?474F5?L=>5. 
3. �D5<5=4 7DG??O Simple. 
4. �D5<5=4 7DG??O Continuous. 
5. �D5<5=4 7DG??O Perfect. 
6. �D5<5=4 ?4EE<6=>7> 74?>74. 
7. �>D<O < ?D46<?4 G?>FD55?5=<O =5?<G=OE D>D< 4=7?<=E>>7> 7?47>?4. 
8. �>D<O >55E?5G5=<5 ?D>F5EE4 >><<G=<>4F<<.  

 
�D<<5D F<?>6>7> ?D4>F<G5E>>7> 7444=<O: 

1. �D>G<F4=F5 F5>EF, 6O?>?=<F5 ?5D56>4. �F65F<FL =4 6>?D>EO ?D5?>4464F5?O (GEF=4O 
>><<G=<>4F<O) 

 
British Traditions and Customs  

Britain is like a 'melting-pot' - it is multicultural. Different countries have helped build Britain 
into an exciting place today. Britain has become a 'new' home or a shelter for those people who come 
different backgrounds and often difficult times from their home countries. The ethnic and cultural 
diversity adds great value to Britain. Britain has some traditions and customs that show the typical 'way 
of life' for British peoples. Not everyone does them, but many do. Sunday Roast. Roast beef is served 
with roast potatoes, Yorkshire pudding, vegetables and gravy. It is usually served on a Sunday, mid to 
late afternoon. Yorkshire pudding is batter baked in hot fat in the oven. Gravy is a sauce made from 
meat juices and stock, thickened with flour.  

High Tea. The modern High Tea is served between 3pm and 5pm. It is a pot of tea usually 
accompanied by thin sandwiches, scones with cream, small cakes, and pastries. High tea can also be 
called 'afternoon tea' which can be as simple as a cup of tea (a cuppa) and biscuits. Fish and Chips. 
Friday Fish and chips can, and are, eaten any day of the week. Fridays became the 'traditional' day to 
eat them due to a Roman Catholic rule that fish was the only meat to be eaten on a Friday. There are 
many superstitions in Britain, but one of the most widely-held is that it is unlucky to walk under a 
ladder - even if it means stepping off the pavement into a busy street! If you must pass under a ladder 
you can avoid bad luck by crossing your fingers and keeping them crossed until you've seen a dog. 
Alternatively, you must lick your finger and make a cross on the toe of your shoe, and not look again at 
the shoe until the mark has dried. Another common superstition is that it is unlucky to open an umbrella 
in the house - it will either bring misfortune to the person that opened it or to the household. Anyone 
opening an umbrella in fine weather is unpopular, as it inevitably brings rain! The number 13 is said to 
be unlucky for some, and when the 13th day of the month falls on a Friday, anyone wishing to avoid an 
inauspicious event had better stay indoors. The worst misfortune that can befall you is incurred by 
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breaking a mirror, as it brings seven years of bad luck! The superstition is supposed to have originated 
in ancient times, when mirrors were considered to be tools of the gods. Black cats are generally 
considered lucky in Britain, even though they are associated with witchcraft - a witch's animal-familiar' 
is usually a black cat. It is especially lucky if a black cat crosses your path. A commonly-held 
superstition is that of touching wood for luck. This measure is most often taken if you think you have 
said something that is tempting fate, such as 'my car has never broken down - touch wood!' 

 
2. �>47>F>6LF5 GEF=>5 E>>5M5=<5 > <56>G?LFGD=>< D47=>>5D47<< FD44<F<= < >5OG456 6 

�D<F4=<< < $>EE<<.   
 

3. �4?>?=<F5 ?D>?GE>< 6 ?D54?>65=<OE 6 E>>F65FEF6<< E =>D<4<< < 7D4<<4F<G5E><<< ?D46<?4<<  
 
1) I have _______ you need. 
A. a book, B. the book, C. books, D. book. 
2) I was busy and couldn9t listen __the radio.  
�. To, B. on, C. Over, D. by. 
3) What about ______ some business now? 
A. discuss, B. to discuss, C. discussing, D. discussion. 
4) Helen made her husband ________ some shopping. 
�. Doing, B. to do, C. do, D. make. 
5) Why are you so angry _____ me?  
A. at, B. with, C. for, D. about. 
6) This radio is made in Riga and   _______ by many shops. 
A. is sold, B. to grow, C. is selling, D. has sold. 
7) Are you fond of_______ Flowers? 
A. growing, B. to grow, C. grow, D. grows. 
8) She ________ that her mother teaches English at school. 
A. told, B. answer, C. said, D. says. 
 9) He couldn9t stop ________ though he knew it was not polite. 
A. laughing, B. to laugh, C. having laughed, D. laugh. 
10) Please, go _______ the room. 
A. out of, B. out, C. from, D. out from. 
11) That is the ______ I can do for her. 
A. least, B. less, C. little, D. latest. 
12) _______ the film «Gone with (he Wind » before you read the book?  
A. had you seen, B. have you seen, C. saw you , D. you saw. 
13) Consult your doctor before you_______ back to your work. 
A. went, B. will go, C. goes, D. go. 
14) I'9 sick and tired of_______ him the same Thing over and over again. 
A. explain, B. explained, C. explaining, D. explaining to.  
15) Bad news _________ fast. 
A. travels, B. travel, C. are traveled D. will be travel. 
16) Everybody knows him _______ the best doctor in our town. 
A. is, B. be, C. to be, D. will be. 
17) I since breakfast. And I'9 very hungry. 
A. don'9 have a meal, B. doesn9t have a meal, C. haven'9 had a meal, D. eat. 
18) His clothes are wet, I must dry _________. 
A. it, B. them, C. they, D. their. 
19) He ____ go to the dentist because he has a bad tooth. 
A. could, B. should, C. must to, D. to be able to. 
20) The new play _______ at our theatre this month. 
A. showed, B. was been shown, C. has been shown, D. had been shown. 
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21) Greta was really very sorry for ______ late. 
A. been, B. being, C. be, D. was. 
22) She must________ to that man and inform him about our plans. 
A. speak, B. tell, C. speaks, D. play. 
23) It _________ early in summer. 
A. light, B. gets light, C. is getting light, D. is get light.  
24) The drug made me_______ sleepy 
A. to feel, B. feel, C. feeling, D. felt. 
25) It _______ since early morning. 
A. has been raining, B. rained, C. had rained, D. rains. 
26) She simply loves _________ and dancing. 
A. music, B. a music, C. the music, D. these music. 
27) &>F said that lie ________ horse before. 
A. never rode, B. would never ride, C. had never ridden, D. has never ridden.  
28) _____ a magazine and two newspapers on the table. 
A. it was, B. they were, C. there was, D. there were. 
29) The book is________ interesting. I like it __________. 
A. very, very, 13. very, very much, C. very much, very much, D. very much, very. 
30) She told us ___________ late. 
A. don't be, B. to be not, C. not, D. not to be. 
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4?7>D<F<4 D5L5=<O 7444=<=, <=EFDG>F<= ?> 6O?>?=5=<N 7444=<=, 6O?>?=5=<O <5F>4<> < 4D.); 4) 
E4<>EF>OF5?L=4O D45>F4 EFG45=F>6 =4 74=OF<<; 5) >>=FD>?L >>=5G=>7> GD>6=O GE6>5=<O 7=4=<=; 6) 
74>?NG<F5?L=O= MF4?.   

�4 ?D4>F<G5E><E < E5<<=4DE><E 74=OF<OE <>7GF ?D<<5=OFLEO E?54GNM<5 D>D<O D45>FO:  
" DD>=F4?L=4O - 6E5 EFG45=FO 6O?>?=ONF >4=G < FG 65 D45>FG;  
" 7DG??>64O - >4=4 < F4 65 D45>F4 6O?>?=O5FEO 7DG??4<< <7 2-5 G5?>65>;  
" <=4<6<4G4?L=4O - >464O= EFG45=F 6O?>?=O5F <=4<6<4G4?L=>5 7444=<5.   
$>D<O ?D4>F<G5E>>7> 74=OF<O: 1) FD44<F<>==4O (GF5=<5 < ?5D56>4 F5>EF>6, >5EG645=<5 

E?>D=OE 6>?D>E>6 ?5D56>44, ?D>6545=<5 GEF=>7> >?D>E4 EFG45=F>6, <>=>?>7<G5E><5 6OE>47O64=<O 
EFG45=F>6; 2) <=F5D4>F<6=4O (E>EF46?5=<5 4<4?>7>6, 4<E>GEE<<, D>?56O5 <7DO).   

�=F5D4>F<6=O5 D>D<O ?D4>F<G5E>>7> 74=OF<O ?D>6>4OFEO 4?O >>??5>F<6=>= >FD45>F>< 
?5>E<G5E>>7> < 7D4<<4F<G5E>>7> <4F5D<4?4 F5<. % MF>= F5?LN ?D5?>4464F5?5< EFG45=FO 
D475<64NFEO =4 D45>G<5 7DG??O 6 E>EF465 =5 5>?55 3 G5?>65> < << ?D54?4745FEO E>EF46<FL 4<4?>7< 
<?< ?D>65EF< D>?56GN <7DG, <<<F<DGNMGN GEF=GN >><<G=<>4F<N =4 <=>EFD4==>< O7O>5. �> 
>>>=G4=<< D45>FO 6 7DG??5 EFG45=FO ?D575=FGNF ?>?GG5==O5 D57G?LF4FO. � D57G?LF4F5 GG4EF<O 6 
D45>F5 6 7DG??4E EFG45=F4<< >FD454FO64NFEO =46O>< >><<G=<>4F<< 6 GEF=>= D>D<5 =4 
<=>EFD4==>< O7O>5, >5<5=4 <=D>D<4F<5= =4 <=>EFD4==>< O7O>5, 4 F4>65 ?D>D5EE<>=4?L=> 
7=4G<<O5 =46O>< 674<<>45=EF6<O E 4DG7<<< ?<F4<< 6 D>D<5 E>FDG4=<G5EF64, 4>F<6=>7> 
E?GL4=<O.  

� F5G5=<5 74=OF<O EFG45=FG =5>5E>4<<> 6O?>?=<FL 7444=<O, 6O44==O5 ?D5?>4464F5?5<, 
6O?>?=5=<5 >>F>DOE 74G<FO645FEO, >4> F5>GM4O D45>F4 EFG45=F4.  

�5F>4<G5E><5 G>474=<O > GF5=<N F5>EF4 
%?54G5F D47?<G4FL 464 >E=>6=OE 6<44 GF5=<O 3 557?>5 (>7=4>><<F5?L=>5) < 64G<G<6>5. �?O 

D47=OE 7444=<= FD55GNFEO D47=O5 6<4O GF5=<O. 
�57?>5 GF5=<5 (E>4=<D>64=<5) 

%4D4>F5D<EF<>>= F5E=<>< 5OEFD>7> E>4=<D>64=<O =4 4=7?<=E>>< O7O>5 O6?O5FEO: 
÷ "�D>?GE>" 7D4<<4F<G5E><E M?5<5=F>6. �4?D<<5D: a, the, in, of, through, that. �77?O4 

>EF4=46?<645FEO F>?L>> =4 F5E E?>64E, >>F>DO5 =5EGF >4>GN-F> <=D>D<4F<N. �4?D<<5D, >E=>6=O5 
EGM5EF6<F5?L=O5, 7?47>?O, ?D<?474F5?L=O5 < =4D5G<O. 

÷ "�7=>D<D>64=<5" D>D< 7?47>?>6. 'F> <<5==> G?>FD55<? 46F>D look, looked, has looked <?< 
had looked? Has looked <?< had looked? 

÷ "�7=>D<D>64=<5" F>G=>= >DD>7D4D<<. %>D>L> <765EF=>, GF> <>77 D4E?>7=45F E?>64 
F5?<>><, 4 =5 5G>6O, <7 >>F>DOE >=< E>EF>OF. �>E<F5?< O7O>4 ?>EF>O==> 6EFD5G4NF E?>6> piece , 
>4=4>> <=>7<5 <7 =<E ?>-?D56=5<G ?<LGF 57> >4> peice , F4> >4> >54 64D<4=F4 E>45D64F >4=< < F5 
65 5G>6O. 

÷ "�7=>D<D>64=<5" E?>6=OE E?>6, >>F>DO5 =5 O6?ONFEO >?NG56O<< 4?O ?>=<<4=<O E<OE?4 
(745EL: primeval, constrictor). �> 6D5<O 5OEFD>7> GF5=<O, =5F 6D5<5=< =4 E?>64DL. 

&4>>5 E>4=<D>64=<5 - ?D5>D4E=O= < 5OEFDO= E?>E>5 E5>D4 <=D>D<4F<<, =5>5E>4<<>= 4?O 
?>=<<4=<O ?<EL<5==>7> F5>EF4. �=>744 6>7=<>45F 4DG74O ?D>5?5<4: 7D4<<4F<G5E><5 D>D<O =5 
646=O 4?O ?>=<<4=<O F5>EF4, >4=4>> >=< <>7GF ?>=44>5<FLEO 4?O 57> D5?D>4G>F<< (=4?D<<5D, 
5E?< 64< =44> 57> ?5D5E>474FL). �E?< �O ?>EF>O==> <E ?D>?GE>45F5, F> ?D< ?>?OF>5 <E?>?L7>64FL 
>F45?L=O5 DD47O, 5G45F E?>6=> EFD><FL ?D46<?L=O5 ?D54?>65=<O. 

�4G<G<6>5 GF5=<5 

÷ �5D4M4=F5 6=<<4=<5 =4 <=F5D5E=O5 (=5 6E5744 >G56<4=O5) 65M<: =>6>5 E?>6>, 6=GFD< 
>4>>= DD47O >=> <E?>?L7G5FEO, E >4><< 4DF<>?5< G?>FD55?O5FEO 6> DD475, >4><<< ?D54?>74<< 
"F5??O5FEO" > 4DG7<< E?>64< 6 ?D54?>65=<<. �>4G<4=F5, ?>G5<G F4<, 745 6O 5O G?>FD55<?< 
?D54?>7 on, =G65= ?D54?>7 at. �>7<>6=>, 6 ?D54?>65=<< <E?>?L7G5FEO present perfect, 4 6O 5O 
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<E?>?L7>64?< past simple. �>DO4>> E?>6 6 ?D54?>65=<< EFD>7> >?D545?5=, GF> E>6E5< G6 EFD4==> 
4?O DGEE>>7>6>DOM57>. 

÷ �E?< 6 ?D54?>65=<< 5EFL ?>?57=4O DD474, ?>4G<4=F5, <>7?< 5O 6O E4<< ?>EFD><FL 
?>4>5=GN? �=4O 55 E<OE?, G?>FD55<?< ?< 5O 6O 55 6 F>< 65 6D5<5=<, E F5<< 65 4DF<>?O<< < 
?D54?>74<<? &4>>= ?< ?>DO4>> E?>6 5O? 5O 6 64L5< ?D54?>65=<<? �E?< 6O E><=5645F5EL, GF> 
E>474?< 5O DD47G <<5==> F4>, ?D>G<F4=F5 55 5M5 D47. �>FD5=<DG=F5EL 6 55 ?D><7=>L5=<< (<>6=> 
=4 >E=>65 44==>= DD47O EFD><FL E6>< E>5EF65==O5, 74<5=OO ?>4?564M55 <?< <<5=4). �4L4 F5?L - 
74?D>7D4<<<D>64FL 64L <>77 =4 ?D46<?L=>5 <E?>?L7>64=<5 MF>7> ?D54?>65=<O. 

÷ �D< =5>5E>4<<>EF< <?< 65 5E?< 64< =D46<FEO F4>4O D>D<4 D45>FO, >5D4F<F5EL > E?>64DN, 
GF>5O GF>G=<FL 7=4G5=<5 F>7> <?< <=>7> E?>64. &4> G 64E 5G45F 6>7<>6=>EFL ?GGL5 ?>=OFL 
G?>FD55?5=<5 E?>64, ?>7=4>><<6L<EL E ?D<<5D4<< 57> G?>FD55?5=<O. 

�5F>4<G5E><5 G>474=<O > ?5D56>4G F5>EF4 
 �5D56>4 F5>EF4 3 MF> 444?F4F<O F5>EF4 >4=>7> O7O>4 4?O ?D>GF5=<O <?< ?D>E?GL<64=<O =4 

4DG7><. %GM5EF6GNF D47=O5 6<4O ?5D56>4>6 (GEF=O5, ?<EL<5==O5, F5E=<G5E><5, ?<F5D4FGD=O5, 
ND<4<G5E><5), => >5M<5 ?D<=F<?O ?5D56>44 6E5744 >4=< < F5 65.  

�D< ?5D56>45 F5>EF4 ?5D54 EFG45=F4<< 6EF45F =5E>>?L>> ?D>5?5<: =57=4=<5 7=4G5=<O E?>6 < 
?D46<? 7D4<<4F<><, =55>?LL>= 74?4E E<=>=<<>6, EFD4E ?5D54 5>?LL<< >5N5<>< F5>EF4. �D>F5EE 
?5D56>44 45?<FEO =4 GE?>6=O5 MF4?O.  

1. �?O =4G4?4 =G6=> ?5D565EF< =4764=<5, ?D>G<F4FL <EE>4=O= F5>EF >F =4G4?4 4> >>=F4 < 
?>?OF4FLEO ?D< MF>< G?>6<FL, > G5< <45F D5GL.   

2. �4F5< =4G<=45FEO =5?>ED54EF65==> E4< ?5D56>4. �E5 =57=4>><O5 E?>64 6 >5O74F5?L=>< 
?>DO4>5 =G6=> 6O?<EO64FL 6 >F45?L=GN F5FD44>G. �>?L74 6545=<O F5FD44< E> E?>64<< 3 MF> F>, 
GF> D<>E<DGO E?>6> =4 5G<475, 6O ?GGL5 57> 74?><<=45F5.  

�M5 >4=4 E?>6=>EFL 6>7=<>45F E 6O5>D>< 7=4G5=<O. �E=>6=4O, G4EF> G?>FD55?O5<4O ?5>E<>4, 
>4> ?D46<?>, <=>7>7=4G=4. � F4>>< E?GG45 6 E?>64D5 G5D57 74?OFGN <?< ?>4 F<DD4<< 
?5D5G<E?ONFEO >E=>6=O5 7=4G5=<O. �<>>744 =5 =G6=> 5D4FL ?5D6>5 ?>?46L55EO =4 7?474 7=4G5=<5. 
�>E<>FD<F5 =4 >>DG65=<5 E?>64, E >4><< 7?47>?>< <?< EGM5EF6<F5?L=O< >=> E>G5F45FEO, G4EF> 6 
E?>64D5 ?D<6>4OF >5M5G?>FD55<F5?L=O5 (GEF>=G<6O5) 6OD465=<O. &>?L>> ?>E?5 F>7>, >4> 6O 
?D<<5D=> ?>=O?<, > G5< <45F D5GL 6 ?D54?>65=<< <?< 57> G4EF<, 6O5<D4=F5 ?>4E>4OM55 ?> 
E<OE?G 7=4G5=<5.  

�5 =44> =4G<=4FL ?5D56>4<FL 6E5 E?>64 ?>4DO4. �GGL5 D4745?<FL F5>EF =4 G4EF<, F> 5EFL 
>?D545?<FL 54<=<FG ?5D56>44: 4574F, ?D54?>65=<5, G4EFL ?D54?>65=<O <?< E?>6>.  

�5D56>4 ?D54?>65=<O =G6=> =4G<=4FL E ?><E>4 57> >E=>6O, F> 5EFL ?4DO: ?>4?564M57> < 
E>47G5<>7>. -F> F> O4D>, > >>F>D><G ?D<E>54<=ONFEO >EF4?L=O5 G?5=O ?D54?>65=<O.  

3. %?54GNM<< MF4?>< <45F E>7?4E>64=<5. �5D56545==O= =45>D E57<5=F>6 4=4?<7<DG5FEO < 
444?F<DG5FEO ?>4 O7O>, =4 >>F>DO= ?D><76>4<FEO ?5D56>4. '4EF> 4?O F>7>, GF>5O =4=F< 
445>64F=GN 74<5=G (<?< ?>4E>4OM<= E<=>=<<) E?>6=> ?5D56>4<<OE E?>6, =G6=> <<5FL 5>74FO= 
E?>64D=O= 74?4E O7O>4, =4 >>F>DO= ?5D56>4<FEO F5>EF.  

$57G?LF4F ?5D56>44 4>?65= 5OFL ?>=OF5= =>E<F5?N F5?56>7> O7O>4, 6 ?5D56545==>< F5>EF5 
=5 4>?6=> >EF464FLEO =5E6O7=OE ?D54?>65=<=. %?>64 6 ?D54?>65=<< 4>?6=O 5OFL D4EEF46?5=O 6 
?D46<?L=>< ?>DO4>5, 4 E<OE? <E 4>?65= 5OFL 45E>?NF=> ?>=OF=O<. � ?5D56>45 =5 4>?6=> 5OFL 
6O4G<4==OE DD47<5=F>6, >>F>DO5 ?5D56>4G<> 4>546<? >F E55O: E?>64 E<=>=<<O <>7GF 
<E?>?L7>64FLEO, => 557 <E>465=<O <EE>4=>7> E<OE?4 <?< ?D>?GE>4=<O DD47<5=F>6 F5>EF4.  

�5D6O= ?><>M=<> ?5D56>4G<>4 3 MF>, >>=5G=>, E?>64DL. %>D>L>, 5E?< 5EFL 6>7<>6=>EFL 
?>?L7>64FLEO D47=O<< F<?4<< E?>64D5=. � 4>F<65 4>?65= <<5FLEO =5 F>?L>> F574GDGE, E>45D64M<= 
7=4G5=<O >F45?L=OE E?>6, => < F>?>>6O= E?>64DL, E?>64DL-E?D46>G=<>, E?>64DL E<=>=<<>6 < 
4=F>=<<>6, D477>6>D=O= E?>64DL, F5D<<=>?>7<G5E><=, E?>64DL E>>D4M5=<=, FDG4=>EF5= < <=>7<5 
4DG7<5.  

�><?LNF5D <>65F 5OFL ?>?575= 6 ?5D56>45: <>6=> <E?>?L7>64FL M?5>FD>==O5 E?>64D<. -F> 
F4>>= 65 E?>64DL, >4> < ?D<6OG=O= =4?5G4F4==O=, >4=4>> 5>?55 G4>5=O=.  

�5F>4<G5E><5 G>474=<O ?> 6O?>?=5=<N ?D4>F<G5E><E 7444=<=  
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�O?>?=5=<5 ?D4>F<G5E><E 7444=<= 74>?NG45FEO 6 6O?>?=5=<< 7444=<= > 4=7?>O7OG=><G 
F5>EFG < =5>5E>4<<> 4?O ?>?GG5=<O >5M57> ?D54EF46?5=<O > E>45D64=<< F5>EF4, 4 F4>65 4?O 
?><E>4 >>=>D5F=>= <=D>D<4F<<. �5>5E>4<<> 6=<<4F5?L=> ?D>G<F4FL 7444=<5 > F5>EFG.  

�4G<G<6> < 6=<<4F5?L=> ?D>GF<F5 F5>EF, >F<5G4O =57=4>><O5 E?>64, 5E?< >=< <5L4NF 
?>=<<4=<N F5>EF4. �>E<>FD<F5 7=4G5=<5 =5?>=OF=OE E?>6 6 E?>64D5. �D>G<F46 F5>EF, ?D>65DLF5 
E6>5 ?>=<<4=<5 ?> 6>?D>E4< <?< 4DG7<< 7444=<O< ?>E?5 F5>EF4, EF4D4OEL =5 747?O4O64FL 6 F5>EF.  

�4<5>?55 ?>?G?OD=O<< 7444=<O<< ?> D45>F5 E F5>EF>< =4 <=>EFD4==>< O7O>5 O6?ONFEO:  
1. �>?D>E=>->F65F=O5 G?D46=5=<O -  ?D54?>?474NF 74?D4L<64=<5 < ?D54>EF46?5=<5 

=5>5E>4<<>= <=D>D<4F<<.  
2. 45?5=<5 =4 >4F57>D<< 3 7DG??<D>6>4 O7O>>6OE <?< E<OE?>6OE M?5<5=F>6 E>7?4E=> 

>5>7=4G5==O< >4F57>D<O< <?< >?D545?5=<5 MF<E >4F57>D<=.  
3. 6>EEF4=>6?5=<5 / 74?>?=5=<5 ?D>?GE>>6 3 ?D<U< D45>FO E> E6O7=O< F5>EF><, 6 >>F>D>< 

?D54=4<5D5==> ?D>?GM5=> >464>5 n-5 E?>6> (n >>?55?5FEO >F 5 4> 10). �444G4 EFG45=F>6 3 
6>EEF4=>6<FL 45D>D<<D>64==O= F5>EF, ?>4>5D4FL ?D>?GM5==O5 E?>64 ?> E<OE?G, <EE>4O <7 
>>=F5>EF4 <?< ?D<6OG=>= E>G5F45<>EF< E?>6.  

4. G?D46=5=<5 =4 4>?>?=5=<5 3 ?D<U< D45>FO, >E=>64==O= =4 >FDO6>5 F5>EF4 <?< DO45 
=574>>=G5==OE ?D54?>65=<=, >>F>DO5 =5>5E>4<<> 74>>=G<FL, <E?>?L7GO <=D>D<4F<N, 
?>?GG5==GN <7 ?D>G<F4==>7> F5>EF4.  

5. E>>F=5E5=<5 / E>?>EF46?5=<5 3 ?D<U< D45>FO, 74>?NG4NM<=EO 6 D4E?>7=464=<< 
E>>F=>EOM<EEO 4DG7 E 4DG7>< 65D54?L=OE < =565D54?L=OE M?5<5=F>6, =4?D<<5D, <564G >4DF<=>= 
< ?D54?>65=<5<, E?>6>< < 57> >?D545?5=<5<, =4G4?>< < >>=F>< ?D54?>65=<O < F.4.  

6. ?5D56>4 3 6OD465=<5 <45< =4 4DG7>< O7O>5. �D< MF>< EFG45=FO 4>?6=O ?D<=<<4FL 6> 
6=<<4=<5 ?<=76<EF<G5E><5 < >G?LFGD=O5 >E>55==>EF< O7O>4, =4 >>F>DO= 45?45FEO ?5D56>4. 
�5D56>4 <>65F 5OFL GEF=O< < ?<EL<5==O<.  

 
�5F>4<G5E><5 G>474=<O 4?O 6O?>?=5=<O E4<>EF>OF5?L=>= D45>FO 

%4<>EF>OF5?L=4O D45>F4 EFG45=F>6 74>?NG45FEO:   
1) 6 E4<>EF>OF5?L=>< <7GG5=<< ?5>E<>>-7D4<<4F<G5E>>= F5<O (GF5=<5, ?5D56>4, ?>47>F>6>4 

> GEF=><G >?D>EG);   
2) 6 E<EF5<4F<74F<< < 74>D5??5=<< ?>?GG5==OE 7=4=<= ?>ED54EF6>< ?5D5E>474 F5>EF>6 < 6 

?>47>F>6>5 > 4<E>GEE<< ?> F5<5; 
3) 6 ?>47>F>6>5 MEE5 
�444=<O E4<>EF>OF5?L=>= 6=54G4<F>D=>= D45>FO EFG45=F>6 74>?NG4NFEO 6 ?D>4>?65=<< 

<7GG5=<O 7D4<<4F<G5E>>7> < ?5>E<G5E>>7> <4F5D<4?4 4<EF<??<=O < 6 D476<F<< =46O>>6 GF5=<O, 
?5D56>44, 4 F4> 65 GEF=>= < ?<EL<5==>= >><<G=<>4F<< =4 <=>EFD4==>< O7O>5.  

�O?>?=5=<5 7444=<= >EGM5EF6?O5FEO EFG45=F4<< ?> >464>= F5<5 4<EF<??<=O 6 «4><4L=<E 
GE?>6<OE», D57G?LF4FO 6O?>?=5=<O 7444=<= ?D54EF46?ONFEO =4 ?D4>F<G5E>>< 74=OF<< 6 GEF=>= 
<?< ?<EL<5==>= D>D<5, 6 746<E<<>EF< >F F<?4 7444=<O.  

� E6O7< E F5<, GF> 6O?>?=5=<5 7444=<= >EGM5EF6?O5FEO 6> 6=54G4<F>D=>5 6D5<O, EFG45=F 
<>65F ?>?L7>64FLEO E?>64DO<<, E?D46>G=<>4<< ?> 7D4<<4F<>5 < 4>?65= G<5FL 4D7G<5=F<D>64FL, 
6O?>?=5=<5 >464>7> 7444=<O.  

�>=>D5F=O5 FD55>64=<O > E>45D64=<N < >D>D<?5=<N D57G?LF4F>6 6O?>?=5==OE 7444=<= 
G>474=O 6 E>>F65FEF6GNM<E D4745?4E $�% ?> 4<EF<??<=5.  

�5F>4<G5E><5 G>474=<O ?> ?5D5E>47G F5>EF4 
�>47>F>6>4 ?5D5E>47>6 <>65F < 4>?6=4 EF4FL 4?O EFG45=F>6 MDD5>F<6=O< <=EFDG<5=F>< 

D4EL<D5=<O E?>64D=>7> 74?4E4 < D476<F<O G<5=<= GEF=>= D5G< =4 <=>EFD4==>< O7O>5.  
�5D5E>47 F5>EF4 3 MF> GEF=>5 <7?>65=<5 E>45D64=<O F5>EF4 >F E6>57> ?<F4 E>5EF65==O<< 

E?>64<< ?> 74D4=55 ?D>4G<4==><G ?>7<G5E>><G ??4=G. �5D5E>47 F5>EF4 =5 O6?O5FEO 
6>E?D><76545=<5< =4<7GEFL 74D4=55 =4?<E4==>7> ?>?=>7> F5>EF4.  

�?O ?>47>F>6>< ?5D5E>474 F5>EF4 EFG45=F4< E?54G5F, ?D5645 6E57>, ?5D565EF< F5>EF, GF>5O 
>7=4>><<FLEO E 57> F5<>= < >E=>6=>= <OE?LN.  
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�4?55 D5>><5=4G5FEO E>EF46<FL ??4= E>45D64=<O F5>EF4, >?<D4OEL =4 >E=>6=O5 <OE?< < 
D4>FO, >?<EO645<O5 6 >464>< <7 4574F56. �?O F>7> GF>5O  D4E>DOFL =4 <=>EFD4==>< O7O>5 
?G=>FO E>EF46?5==>7> ??4=4, <>65F5 74D4=55 ?>47>F>6<FL E?<E>> >?NG56OE E?>6 (1-3 E?>64 ?> 
>464><G ?G=>FG). �> =4G4?4 ?5D5E>474 >5O74F5?L=> ?D>65DLF5, G<55F5 ?< �O ?D46<?L=> 
?D><7=>E<FL >?NG56O5 E?>64, >5D4F<F5 >E>5>5 6=<<4=<5 =4 G44D5=<O. �?O MF>7> >5D4F<F5EL > 
FD4=E>D<?F<< <?< ?D>E?GL4=F5 4G4<>74?<EL.  

$4E>DO64O ?G=>FO ??4=4, =5>5E>4<<> 7>6>D<FL >>D>F><<< OE=O<< ?D54?>65=<O<<, G5F>> 
ED>D<G?<D>646 <OE?L 4> F>7>, >4> =4G4FL 6OD464FL 55 =4 <=>EFD4==>< O7O>5. �>65F 5OFL 
?>?57=O< E=4G4?4 ?>47>F>6<FL ?5D5E>47 F5>EF4 =4 DGEE>>< O7O>5.  

%>D>L> ?>47>F>6?5==O= ?5D5E>47 O6?O5FEO D57G?LF4F>< <=>7>>D4F=>7> GEF=>7> <7?>65=<O 
E>45D64=<O ?D>G<F4==>7> F5>EF4 E >?>D>= =4 ??4= 3 74?<E4==O= =4 5G<475 <?< E>ED4=O5<O= 6 
?4<OF<. �D< MF>< 7?46=O< 74?>7>< >4G5EF64 ?5D5E>474 O6?O5FEO ?>EF>O==O= FM4F5?L=O= 
E4<>>>=FD>?L 6 ?D>F5EE5 D5G< ?>DO4>4 E?>6, ?D46<?L=>EF< >D>D<?5=<O 7?47>?4 E>47G5<>7>, 
?D46<?L=>7> G?>FD55?5=<O ?D54?>7>6, E>N7>6, E>5?N45=<O 4DG7<E >E=>6=OE ?D46<? ?>EFD>5=<O 
?D54?>65=<= =4 <7GG45<>< <=>EFD4==>< O7O>5.  

�5F>4<G5E><5 G>474=<O ?> =4?<E4=<N MEE5 
-EE5 3 MF> >D4F>4O =4GG=4O D45>F4 EFG45=F4, 6 >>F>D>= EFG45=F 4>?65= D4E>DOFL >4<= G7><= 

?D>5?5<=O= 6>?D>E. �F?<G<5 MEE5 >F 4DG7<E =4GG=OE D45>F EFG45=F>6 3 6 57> >D4F>>EF<, 
?4>>=<G=>EF< <7?>65=<O <4F5D<4?4 =4 ?D54?>65==GN F5<G. -EE5 ED46=<<> E GEF=O<< 
6OE>47O64=<O<< EFG45=F>6 ?> >?D545?5==><G =4GG=><G 6>?D>EG =4 E5<<=4D4E <?< E 4>>?44><. � 
MEE5 EFG45=F 6OD4645F E>5EF65==>5 <=5=<5, >5>E=>6O64O 57> EEO?>4<< =4 GG55=GN <?< =4GG=GN 
?<F5D4FGDG. �4?<G<5 46F>DE>>= ?>7<F<<, E>5EF65==>7> >F=>L5=<O > 6>?D>EG 6 MEE5 >5O74F5?L=>. � 
MEE5 =5 FD55G5FEO ED46=<64FL =4GG=O5 >>=F5?F<< < 677?O4O, 6 >5O74F5?L=>< ?>DO4>5 <E?>?L7>64FL 
E?>6=O5 ?>7<G5E><5 <?< EF4F<EF<G5E><5 <5F>4O, 5E?< MF> F>?L>> ?DO<> =5 ?D54GE<>FD5=> 
6O5D4==>= F5<>= MEE5. 

-EE5 6O?>?=O5FEO =4 >F45?L=OE ?<EF4E D>D<4F4 �4, E>D5??5==OE <564G E>5>=. 
$5>><5=4G5<O= >5N5< MEE5 3 5 3 7 EFD4=<F ?5G4F=>7> F5>EF4, 6>?NG4O F<FG?L=O= ?<EF < E?<E>> 
?<F5D4FGDO. 

-EE5 =4G<=45FEO E F<FG?L=>7> ?<EF4, EG<F4NM57>EO ?5D6>= EFD4=<F5=. �4 F<FG?L=>< ?<EF5 
=><5D EFD4=<FO =5 EF46<FEO. �?4= 6 MEE5 =5 >5O74F5?5=, F4> >4> EFDG>FGD4 ??4=4 ?D54?>?4745F 
66545=<5 < 74>?NG5=<5, 4 F4>65 45?5=<5 ??4=4 =4 ?>46>?D>EO, GF> 6 MEE5 E45?4FL, >4> ?D46<?>, 
74FDG4=<F5?L=>. �5N5< MEE5 =5 ?>76>?O5F ?<E4FL ?>4D>5=O5 66545=<5 < 74>?NG5=<5 =4 =5E>>?L><E 
EFD4=<F4E. � =4G4?5 MEE5 <>6=> >7D4=<G<FLEO >4=>= <?< =5E>>?L><<< DD474<<, 66>4OM<<< 
G<F4NM57> 6 >GDE D4EE<4FD<645<>7> 6>?D>E4. �<5EF> 74>?NG5=<O 4>EF4F>G=> ED>D<G?<D>64FL 
6O6>4, > >>F>D><G ?D<L5? 46F>D 6 D57G?LF4F5 D4EEG645=<=. � MEE5 >5O74F5?L=> 4>?65= 5OFL 
E?<E>> <E?>?L7>64==>= ?<F5D4FGDO. 

$45>F4 4>?6=4 E>>F65FEF6>64FL 64=DG MEE5 3 ?D54EF46?OFL E>5>= <7?>65=<5 6 >5D47=>= 
D>D<5 ?<G=OE 6?5G4F?5=<=, 677?O4>6 < ?D54EF46?5=<=, ?>4>D5??5==OE 4D7G<5=F4<< < 4>6>44<<. 
%>45D64=<5 MEE5 4>?6=> E>>F65FEF6>64FL 7444==>= F5<5.  

� MEE5 4>?6=> 5OFL >FD465=> E?54GNM55:  
2 >F?D46=4O <45O, ?D>5?5<4, E6O74==4O E >>=>D5F=>= F5<>=;  
2 4D7G<5=F<D>64==>5 <7?>65=<5 46GE-G5FODUE >E=>6=OE F57<E>6;  
2 6O6>4.  
�5N5< MEE5 =5 4>?65= ?D56OL4FL 2-E EFD4=<F ?5G4F=>7> F5>EF4 (=> =5 <5=55 1).  
$45>F4 <>65F 5OFL >D>D<?5=4 E ?><>MLN >><?LNF5D=OE ?D>7D4<< (MS Office).  
�D<F5D<< >F5=>< D45>F: E>45D64=<5, =5D>D<4?L=O= ?>4E>4 > F5<5, E4<>EF>OF5?L=>EFL 

<OL?5=<O, >DG7>7>D, G554<F5?L=>EFL 4D7G<5=F4F<<, 7D4<>F=>EFL, >D>D<?5=<5 D45>FO.  
�5N5< MEE5 200-250 E?>6 (<<=<<G< 180 E?>6, <4>E<<G< 275).  
� MEE5 4>?6=O 4>F<6=> <E?>?L7>64FLEO >>=EFDG>F<< F<?4 In my opinion, I think, I believe.  
�5>5E>4<<> <E?>?L7>64=<5 66>4=OE E?>6 < >>=EFDG>F<= F<?4 On the one hand, on the other 

hand&, E?>6-E6O7>> (Nevertheless, Moreover, Despite&).  
�4?D5M45FEO <E?>?L7>64=<5 E>>D4M5=<O, F<?4 I9m, they9re, don9t, can9t.  
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-EE5 E>EF><F <7 4-E 4574F56:  
1) Introduction (6EFG??5=<5)  
�> 6EFG??5=<< =5>5E>4<<> G5F>> ED>D<G?<D>64FL F5<G-?D>5?5<G, G>4746, GF> EGM5EF6GNF 

465 ?D>F<6>?>?>6=O5 F>G>< 7D5=<O =4 ?D>5?5<G (Some people claim that mobile phones are very 
useful devices while others argue that life could be less stressful without them) < 6OE>474FL E6>5 
<=5=<5, =5 <E?>?L7GO E?<L>>< <=>7> ?<G=OE >>=EFDG>F<=.  

�4=4>> ?5D6>5 ?D54?>65=<5 =5 4>?6=> E?>6> 6 E?>6> ?>6F>DOFL 7444==GN F5<G MEE5. 
$5>><5=4G5<>5 >>>=G4=<5 ?5D6>7> 4574F4: Now I would like to express my point of view on the 
problem of &  

2) �E=>6=4O G4EFL  
1 4574F.  �D<65EF< 2-3 4D7G<5=F4, ?>4F65D644NM<E 64LG F>G>G 7D5=<O, ?>4>D5??OO <E 

?D<<5D4<< <?< 4>>474F5?LEF64<<. �> 6F>D>< 4574F5 6O 4>?6=O ?D<45D6<64FLEO F>?L>> >4=>= 
F>G>< 7D5=<O, =4?D<<5D:  Mobile phones in my opinion are very useful devices. �?< I consider the 
mobile phone to be a harmful and useless invention.  

�5>5E>4<<> ?D<65EF< 2-3 4D7G<5=F4 E 4>>474F5?LEF64<< 6 ?>445D6>G E>5EF65==>7> <=5=<O  
2 4574F.   

�D<65EF< ?D>F<6>?>?>6=O5 F>G>< 7D5=<O (1-2), < >5NOE=<FL, ?>G5<G  6O E =<<< =5 E>7?4E=O. 
�D<<5D: However, some people think that mobile phones not only keep you in touch with your relatives 
and friends but also provide you with a great number of facilities. I can9t agree with this statement 
because& �4L< >>=FD4D7G<5=FO <=5=<N 4DG7<E ?N45= =5 4>?6=O ?>6F>DOFL 2>= 4574F.  

3) Conclusion (74>?NG5=<5)  
�5>5E>4<<> E45?4FL 6O6>4, >5D4F<6L<EL > 7444==>= 6 1-< ?4D47D4D5 F5<5, GF> EGM5EF6GNF 2 

F>G>< 7D5=<O =4 ?D>5?5<G, 4 F4>65 ?>4F65D4<FL E>5EF65==GN F>G>G 7D5=<O.  
�4?D<<5D: There are different points of view on this problem. I think that& <?< Taking everything 

into consideration, there are two different points of view on this problem. I believe that&  
�>?57=O5 DD47O < 6OD465=<O  

1 4574F. �6>4=O5 DD47O  

It is popularly believed that&.  
People often claim that... Some people argue that&  
A lot of people think that&  
It is often suggested /believed that&  
Many people are in favour of idea that... Many people are convinced that...  
Some people are against&  
2 4574F. $D47O, 6OD464NM<5 E6>N F>G>G 7D5=<O:  

I would like to explain my point of view on this situation.  
I would like to express my opinion on this problem.  
$D47O, E4D4>F5D<7GNM<5 ?D5<<GM5EF64  >5EG6445<>= ?D>5?5<O:  

As already stated I9m in favor of& for a number of reasons&  
There are many things to be said in favour of& 
 The best/ thing about&&. is&    
$D47O, ?5D5G<E?ONM<5 F>G>< 7D5=<O:  

Firstly, /First of all&.  
In the first place  
To start with, / To begin with,  
Secondly, Thirdly, Finally,  
Last but not least,  
$D47O, 4>546?ONM<5 =>6O5 4D7G<5=FO:  

Furthermore, /Moreover, /What is more,  
As well as&./In addition to this/that&  
Besides, /&&.also&.  
Not only&., but&& as well.  
Apart from this/that&.  
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not to mention the fact that  
3 4574F.  

Some people believe that& however they fail to understand that&  
they fail to consider that& they forget that&  
Some people argue that &. I can not agree with it as &  
I disagree with this point of view (statement, opinion) because &  
It has become fashionable for some people to argue that&  
Contrary to what most people believe, I think that&  
As opposed to the above ideas&I believe that&  
4 4574F. �4>?NG<F5?L=O5 DD47O:  

In conclusion,  
On the whole,  
To conclude,  
To sum up,  
All in all,  
All things considered  
Finally, Lastly,  
Taking everything into account,  
Taking everything into consideration  
�OD465=<5 ?<G=>7> <=5=<O:  

In my opinion this subject is very controversial  
In my view&  
To my mind&  
To my way of thinking&  
Personally I believe that&  
I feel strongly that&  
It seems to me that&  
As far as I am concerned&  

�5F>4<G5E><5 G>474=<O > ?>47>F>6>5 < ?D>6545=<N 4<E>GEE<< 
�D46<?L=> >D74=<7>64==4O 4<E>GEE<O ?D>E>4<F FD< EF44<< D476<F<O: >D<5=F4F<O, >F5=>4 < 

>>=E>?<44F<O. 
�4 ?5D6>= EF44<< 6OD454FO645FEO >?D545?5==4O GEF4=>6>4 =4 D5L5=<5 ?>EF46?5==>= 

?D>5?5<O. �D< MF>< ?5D54 ?D5?>4464F5?5< (>D74=<74F>D>< 4<E>GEE<<) EF46OFEO E?54GNM<5 
7444G<: 

1. %D>D<G?<D>64FL ?D>5?5<G < F5?< 4<E>GEE<<. �?O MF>7> =44> >5NOE=<FL, GF> 
>5EG6445FEO, GF> 4>?6=> 44FL >5EG645=<5. 

2. %>744FL =5>5E>4<<GN <>F<64F<N, F.5. <7?>6<FL ?D>5?5<G, ?>>474FL 55 7=4G<<>EFL, 
6OO6<FL 6 =5= =5D5L5==O5 < ?D>F<6>D5G<6O5 6>?D>EO, >?D545?<FL >6<445<O= D57G?LF4F 
(D5L5=<5). 

3. 'EF4=>6<FL D57?4<5=F 4<E>GEE<<, 4 F>G=55, D57?4<5=F 6OEFG??5=<=, F4> >4> >5M<= 
D57?4<5=F >?D545?O5FEO ?D>4>?6<F5?L=>EFLN ?D4>F<G5E>>7> 74=OF<O. 

4. %D>D<G?<D>64FL ?D46<?4 6545=<O 4<E>GEE<<, >E=>6=>5 <7 >>F>DOE 4 6OEFG?<FL 
4>?65= >464O=.  

5. �>5<FLEO >4=>7=4G=>7> E5<4=F<G5E>>7> ?>=<<4=<O F5D<<=>6, ?>=OF<= < F ?.  
�F>D4O EF44<O 4 EF44<O >F5=>< 4 >5OG=> ?D54?>?4745F E<FG4F<N E>?>EF46?5=<O, 

>>=DD>=F4F<< < 4465 >>=D?<>F4 <45=. �4 MF>= EF44<< ?5D54 ?D5?>4464F5?5< EF46OFEO E?54GNM<5 
7444G<: 

1. �4G4FL >5<5= <=5=<O<<, GF> ?D54?>?4745F ?D54>EF46?5=<5 E?>64 >>=>D5F=O< 
GG4EF=<>4<. 

2. %>5D4FL <4>E<<G< <=5=<=, <45=, ?D54?>65=<=. �?O MF>7> =5>5E>4<<> 
4>F<6<7<D>64FL >464>7> EFG45=F4. �OEFG?4O E> E6><< <=5=<5<, EFG45=F <>65F ED47G 6=5EF< E6>< 
?D54?>65=<O, 4 <>65F E=4G4?4 ?D>EF> 6OEFG?<FL, 4 ?>765 ED>D<G?<D>64FL E6>< ?D54?>65=<O. 
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3. �5 GE>4<FL >F F5<O, GF> FD55G5F =5>>F>D>= F65D4>EF< >D74=<74F>D4, 4 <=>744 4465 
46F>D<F4D=>EF<. %?54G5F F4>F<G=> >EF4=46?<64FL >F>?>=ONM<EEO, =4?D46?OO <E 6 7444==>5 
«DGE?>», 

4. �>445D6<64FL 6OE>><= GD>65=L 4>F<6=>EF< 6E5E GG4EF=<>>6. �5 4>?GE>4FL 
GD57<5D=>= 4>F<6=>EF< >4=<E 74 EG5F 4DG7<E, E>5?N44FL D57?4<5=F, >EF4=46?<64FL 74FO=G6L<5EO 
<>=>?>7<, ?>4>?NG4FL > D477>6>DG 6E5E ?D<EGFEF6GNM<E EFG45=F>6. 

5. �?5D4F<6=> ?D>6>4<FL 4=4?<7 6OE>474==OE <45=, <=5=<=, ?>7<F<=, ?D54?>65=<= 
?5D54 F5<, >4> ?5D5E>4<FL > E?54GNM5<G 6<F>G 4<E>GEE<<. &4>>= 4=4?<7, ?D5464D<F5?L=O5 
6O6>4O <?< D57N<5 F5?5E>>5D47=> 45?4FL G5D57 >?D545?5==O5 <=F5D64?O (>464O5 10415 <<=GF), 
?>46>4O ?D< MF>< ?D><56GF>G=O5 <F>7<.  

6. � >>=F5 4<E>GEE<< ?D54>EF46<FL ?D46> EFG45=F4< E4<<< >F5=<FL E6>N D45>FG 
(D5D?5>E<O). 

&D5FLO EF44<O 4 EF44<O >>=E>?<44F<< 4 ?D54?>?4745F 6OD45>F>G >?D545?5==OE 54<=OE 
<?< >><?D><<EE=OE <=5=<=, ?>7<F<=, D5L5=<=. �4 MF>< MF4?5 >EGM5EF6?O5FEO >>=FD>?<DGNM4O 
DG=>F<O. �444G<, >>F>DO5 4>?65= D5L<FL ?D5?>4464F5?L, <>6=> ED>D<G?<D>64FL E?54GNM<< 
>5D47><: 

1. �D>4=4?<7<D>64FL < >F5=<FL ?D>6545==GN 4<E>GEE<N, ?>465EF< <F>7<, D57G?LF4FO. 
�?O MF>7> =44> E>?>EF46<FL ED>D<G?<D>64==GN 6 =4G4?5 4<E>GEE<< F5?L E ?>?GG5==O<< 
D57G?LF4F4<<, E45?4FL 6O6>4O, 6O=5EF< D5L5=<O, >F5=<FL D57G?LF4FO, 6OO6<FL <E ?>?>6<F5?L=O5 
< >FD<F4F5?L=O5 EF>D>=O. 

2. �><>GL GG4EF=<>4< 4<E>GEE<< ?D<=F< > E>7?4E>64==><G <=5=<N, G57> <>6=> 
4>EF<GL ?GF5< 6=<<4F5?L=>7> 6OE?GL<64=<O D47?<G=OE F>?>>64=<=, ?><E>4 >5M<E F5=45=F<= 4?O 
?D<=OF<O D5L5=<=. 

3. �D<=OFL 7DG??>6>5 D5L5=<5 E>6<5EF=> E GG4EF=<>4<<. �D< MF>< E?54G5F 
?>4G5D>=GFL 646=>EFL D47=>>5D47=OE ?>7<F<= < ?>4E>4>6. 

4. � 74>?NG<F5?L=>< E?>65 ?>465EF< 7DG??G > >>=EFDG>F<6=O< 6O6>44<, <<5NM<< 
?>7=464F5?L=>5 < ?D4>F<G5E>>5 7=4G5=<5. 

%>EF46=>= G4EFLN ?N5>= 4<E>GEE<< O6?O5FEO ?D>F54GD4 6>?D>E>6 < >F65F>6.   
% DG=>F<>=4?L=>= F>G>< 7D5=<O, 6E5 6>?D>EO <>6=> D4745?<FL =4 465 7DG??O: 
÷ 'F>G=ONM<5 (74>DOFO5) 6>?D>EO, =4?D46?5==O5 =4 6OOE=5=<5 <EF<==>EF< <?< ?>6=>EF< 

6OE>47O64=<=, 7D4<<4F<G5E><< ?D<7=4>>< >>F>DOE >5OG=> E?G6<F =4?<G<5 6 ?D54?>65=<< 
G4EF<FO «?<», =4?D<<5D: «�5D=> ?< GF>?», «�D46<?L=> ?< O ?>=O?, GF>?». �F65F<FL =4 F4>>= 
6>?D>E <>6=> F>?L>> «44» <?< «=5F». 

÷ �>E?>?=ONM<5 (>F>DOFO5) 6>?D>EO, =4?D46?5==O5 =4 6OOE=5=<5 =>6OE E6>=EF6 <?< 
>4G5EF6 <=F5D5EGNM<E =4E O6?5=<=, >5N5>F>6. �E 7D4<<4F<G5E><= ?D<7=4> 4 =4?<G<5 
6>?D>E<F5?L=OE E?>6: GF>, 745, >>744, >4>, ?>G5<G < F.4. 

 

 
 

�5F>4<G5E><5  G>474=<O ?> ?>47>F>6>5 > ?D><56GF>G=>= 4FF5EF4F<< 6 D>D<5 74G5F4 
�4G5F 3 MF> D>D<4 ?D><56GF>G=>= 4FF5EF4F<<, 7444G5= >>F>D>7> O6?O5FEO >><??5>E=>5 >F5=>4 

GD>6=5= 4>EF<65=<O ??4=<DG5<OE D57G?LF4F>6 >5GG5=<O ?> 4<EF<??<=5.  
�4G5F ?D>6>4<FEO 74 EG5F G4E>6, >F654U==OE =4 <7GG5=<5 E>>F65FEF6GNM5= 4<EF<??<=O. 
 �D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O: >F5=>G D57G?LF4F>6 

F5>GM57> >>=FD>?O GE?5645<>EF< EFG45=F4 6 F5G5=<5 ?5D<>44 >5GG5=<O ?> 4<EF<??<=5.  
�?O ?>?GG5=<O 74G5F4 =5>5E>4<<> <<5FL >F5=><, ?>?GG5==O5 6 D4<>4E F5>GM57> >>=FD>?O 

GE?5645<>EF<, ?> >464>= F5<5, ?D54GE<>FD5==>= 4<EF<??<=>=.  
� >D<F5D<< <F>7>6>= >F5=>< GD>6=O ?>47>F>6>< >5GG4NM57>EO ?> 4<EF<??<=5 6E>4OF: 
 - GD>65=L GE6>5=<O EFG45=F>< <4F5D<4?4, ?D54GE<>FD5==>7> D45>G5= ?D>7D4<<>=; 
 - GD>65=L ?D4>F<G5E><E G<5=<=, ?D>45<>=EFD<D>64==OE EFG45=F>< ?D< 6O?>?=5=<< 

?D4>F<G5E><E 7444=<=;  
- GD>65=L >E6>5=<O >><?5F5=F<=, ?>76>?ONM<E 6O?>?=OFL ?D4>F<G5E><5 7444=<O;  
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- ?>7<>4 <OL?5=<O, >5>E=>64==>EFL, G5F>>EFL, ?>?=>F4 >F65F>6.  
�D<F5D<< >F5=>< ?D<6545=O 6 ?. 3. $>=44 >F5=>G=OE ED54EF6.  

 
�5F>4<G5E><5  G>474=<O ?> ?>47>F>6>5 > ?D><56GF>G=>= 4FF5EF4F<< 6 D>D<5 
4<DD5D5=F<D>64==>7> 74G5F4 

�<DD5D5=F<D>64==O5 74G5FO E?G64F D>D<>= ?D>65D>< GE?5L=>7> 6O?>?=5=<O EFG45=F4<< 
F5EF>6, D5D5D4F>6, GE6>5=<O GG55=>7> <4F5D<4?4 ?D4>F<G5E><E 74=OF<=. 

$57G?LF4FO 4<DD5D5=F<D>64==>7> 74G5F4 >?D545?ONFEO =4 >E=>64=<< D57G?LF4F>6 F5>GM57> 
>>=FD>?O GE?5645<>EF< EFG45=F4 6 F5G5=<5 ?5D<>44 >5GG5=<O. 

�4G5F ?D>6>4<FEO 74 EG5F G4E>6, >F654U==OE =4 <7GG5=<5 E>>F65FEF6GNM5= 4<EF<??<=O. 
 �D>F54GD4 ?D>6545=<O 44==>7> >F5=>G=>7> <5D>?D<OF<O 6>?NG45F 6 E55O: >F5=>G D57G?LF4F>6 

F5>GM57> >>=FD>?O GE?5645<>EF< EFG45=F4 6 F5G5=<5 ?5D<>44 >5GG5=<O ?> 4<EF<??<=5.  
�?O ?>?GG5=<O 74G5F4 =5>5E>4<<> <<5FL >F5=><, ?>?GG5==O5 6 D4<>4E F5>GM57> >>=FD>?O 

GE?5645<>EF<, ?> >464>= F5<5, ?D54GE<>FD5==>= 4<EF<??<=>=.  
� >D<F5D<< <F>7>6>= >F5=>< GD>6=O ?>47>F>6>< >5GG4NM57>EO ?> 4<EF<??<=5 6E>4OF: 
 - GD>65=L GE6>5=<O EFG45=F>< <4F5D<4?4, ?D54GE<>FD5==>7> D45>G5= ?D>7D4<<>=; 
 - GD>65=L ?D4>F<G5E><E G<5=<=, ?D>45<>=EFD<D>64==OE EFG45=F>< ?D< 6O?>?=5=<< 

?D4>F<G5E><E 7444=<=;  
- GD>65=L >E6>5=<O >><?5F5=F<=, ?>76>?ONM<E 6O?>?=OFL ?D4>F<G5E><5 7444=<O;  
- ?>7<>4 <OL?5=<O, >5>E=>64==>EFL, G5F>>EFL, ?>?=>F4 >F65F>6.  
�D<F5D<< >F5=>< ?D<6545=O 6 ?. 3. $>=44 >F5=>G=OE ED54EF6.  
 
9. ��&�$���,��-&�%��'�%��� ���%��'���� ��%&�����/  
�?O D54?<74F<< 4<EF<??<=O FD55G5FEO E?54GNM55 <4F5D<4?L=>-F5E=<G5E>>5 >55E?5G5=<5: 
- 4?O ?D>6545=<O 74=OF<= E5<<=4DE>>7> F<?4 - GG55=4O 4G4<F>D<O, >E=4M5==4O 

>5>DG4>64=<5< < F5E=<G5E><<< ED54EF64<< >5GG5=<O: GG55=4O <555?L, M>D4=, ?D>5>F>D, =>GF5G>.  
- 4?O ?D>6545=<O F5>GM57> >>=FD>?O <  ?D><56GF>G=>= 4FF5EF4F<< - GG55=4O 4G4<F>D<O, 

>E=4M5==4O >5>DG4>64=<5< < F5E=<G5E><<< ED54EF64<< >5GG5=<O: GG55=4O <555?L, M>D4=, 
?D>5>F>D, =>GF5G>.  

- 4?O E4<>EF>OF5?L=>= D45>FO >5GG4NM<EEO - 4G4<F>D<O >E=4M5==4O >><?LNF5D=>= 
F5E=<>>= E 6>7<>6=>EFLN ?>4>?NG5=<O > E5F< "�=F5D=5F" < >55E?5G5=<5< 4>EFG?4 > M?5>FD>==>= 
<=D>D<4F<>==>->5D47>64F5?L=>= ED545 �D74=<74F<<. 

 
10. �%������%&� �%�����/ ��%&�����/ ��&��� % 

��$���'���/�� ��������%&/�� ���$��,/ 
�5GG4NM<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D54>EF46?ONFEO E?5F<4?L=O5 

GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O, E?5F<4?L=O5 F5E=<G5E><5 ED54EF64 
>5GG5=<O >>??5>F<6=>7> < <=4<6<4G4?L=>7> ?>?L7>64=<O, GE?G7< 4EE<EF5=F4 (FLNF>D4), 
>>47O64NM57> >5GG4NM<<EO =5>5E>4<<GN F5E=<G5E>GN ?><>ML, 4 F4>65 GE?G7< 
EGD4>?5D56>4G<>>6 < F<D?>EGD4>?5D56>4G<>>6. �D74=<74F<O >55E?5G<645F ?5G4F=O<< </<?< 
M?5>FD>==O<< >5D47>64F5?L=O<< D5EGDE4<< 6 D>D<4E 444?F<D>64==OE > >7D4=<G5=<O< <E 
74>D>6LO. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO <>65F 
5OFL >D74=<7>64=> E>6<5EF=> E 4DG7<<< >5GG4NM<<<EO, 4 F4>65 6 >F45?L=OE 7DG??4E. 

�E6>5=<5 4<EF<??<=O >5GG4NM<<<EO E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO 
>EGM5EF6?O5FEO E GG5F>< >E>55==>EF5= ?E<E>D<7<G5E>>7> D476<F<O, <=4<6<4G4?L=OE 
6>7<>6=>EF5= < E>EF>O=<O 74>D>6LO. 

� F5?OE 4>EFG?=>EF< ?>?GG5=<O 6OEL57> >5D47>64=<O ?> >5D47>64F5?L=>= ?D>7D4<<5 
?<F4<< E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?D< >E6>5=<< 4<EF<??<=O >55E?5G<645FEO: 

1) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> 7D5=<N: 
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3 ?D<EGFEF6<5 FLNF>D4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E 
GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL 
< >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 ?<EL<5==O5 7444=<O, 4 F4>65 <=EFDG>F<< > ?>DO4>5 <E 6O?>?=5=<O >D>D<?ONFEO 
G65?<G5==O< LD<DF><, 

3 E?5F<4?L=O5 GG55=<><, GG55=O5 ?>E>5<O < 4<44>F<G5E><5 <4F5D<4?O (<<5NM<5 >DG?=O= 
LD<DF <?< 4G4<>D4=?O), 

3 <=4<6<4G4?L=>5 D46=><5D=>5 >E65M5=<5 =5 <5=55 300 ?N>E, 
3 ?D< =5>5E>4<<>EF< EFG45=FG 4?O 6O?>?=5=<O 7444=<O ?D54>EF46?O5FEO G65?<G<64NM55 

GEFD>=EF6>; 
2) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO ?> E?GEG: 
3 ?D<EGFEF6<5 4EE<EF5=F4, >>47O64NM<= EFG45=FG =5>5E>4<<GN F5E=<G5E>GN ?><>ML E 

GG5F>< <=4<6<4G4?L=OE >E>55==>EF5= (?><>745F 74=OFL D45>G55 <5EF>, ?5D546<74FLEO, ?D>G<F4FL 
< >D>D<<FL 7444=<5, 6 F>< G<E?5, 74?<EO64O ?>4 4<>F>6>G), 

3 >55E?5G<645FEO =4?<G<5 76G>>GE<?<64NM5= 4??4D4FGDO >>??5>F<6=>7> ?>?L7>64=<O, ?D< 
=5>5E>4<<>EF< >5GG4NM5<GEO ?D54>EF46?O5FEO 76G>>GE<?<64NM4O 4??4D4FGD4 <=4<6<4G4?L=>7> 
?>?L7>64=<O; 

3 >55E?5G<645FEO =44?564M<<< 76G>>6O<< ED54EF64<< 6>E?D><76545=<O <=D>D<4F<<; 
3) 4?O ?<F E >7D4=<G5==O<< 6>7<>6=>EFO<< 74>D>6LO, <<5NM<E =4DGL5=<O >?>D=>-

46<74F5?L=>7> 4??4D4F4: 
3 ?<EL<5==O5 7444=<O 6O?>?=ONFEO =4 >><?LNF5D5 E> E?5F<4?<7<D>64==O< ?D>7D4<<=O< 

>55E?5G5=<5< <?< =44<>F>6O64NFEO FLNF>DG; 
3 ?> 65?4=<N EFG45=F4 7444=<O <>7GF 6O?>?=OFLEO 6 GEF=>= D>D<5. 
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